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Direction (1 – 5) : Study the following 

information carefully and answer the 

questions that follow. 

 

A, B, C, D, E, F, G and H are seated in a 

row but not necessarily in the same 

order. Some of them are facing south 

while some are facing north. (NOTE: The 

same direction means if a person is facing 

north then the other person also facing 

north and if a person is facing south then 

the other person also facing south. 

Opposite direction means that if one 

person is facing north then the other 

person faces south and vice versa.) 

 

E faces north. Only three people sit to the 

right of E. Only two people sit between E 

and B. F sits third to the left of H. H is an 

immediate neighbour of neither E nor B. 

H does not sit at any of the ends of the 

row. Both the immediate neighbours of D 

face south. D does not sit adjacent to H. 

Only one person sits between D and A. A 

faces the same direction as H. The 

neighbours of B face opposite directions 

(i.e. if one neighbour faces north then the 

other faces south and vice versa). 

Persons sit at the ends facing opposite 

directions to each other. C faces in the 

opposite direction that of D. D does not 

sit at any of the ends.  

1. How many persons are seated between 

E and A? 

A. Four 

B. More than four 

C. One 

D. Three 

E. Two 

 

2.Which of the following is true about G 

with respect to the given arrangement? 

A. Only two people sit between G and B. 

B. Only one person sits to the right of G. 

C. None of the given options is true 

D. F is one of the immediate neighbours 

of G. 

E. C sits second to the right of G. 

 

3.Four of the following five are alike in a 

certain way based on the given 

arrangement and so form a group. Which 

is the one that does not belong to that 

group? 

A. C 

B. F 

C. A 

D. H 

E. E 

 

Direction: Study the following 

information carefully and answer the 

questions that follow. 

 

Eight friends i.e. A, B, C, D, E, F, G, and 

H have decided to do the lunch in a 

restaurant. They have seated on two 

parallel rows, each having five seats. 

Each row has one vacant seat but those 

vacant seats are not opposite to each 

other. C, E, D and G sit in row 1 and face 

South, whenever A, B, H and F sit in row 

2 and faces North. They like different 

shapes i.e. Triangle, Pentagon, Hexagon, 

Octagon, Circle, Square, Rectangle and 

Diamond, but not necessarily in the same 

order. 

 

The one who likes Hexagon sits 2nd to the 

right of H but both do not sit at any of the 

extreme ends. The one who faces the 

one, who likes Hexagon, sits to the 

immediate left of the vacant seat of row 

1. There is only one person sitting 

between the vacant seat of row 2 and A. 

The one who faces the vacant seat of row 

2 is E, who likes Square. C sits 3rd to the 

right of E. The one who likes Triangle is 

an immediate neighbour of the one who 

faces C. The one who likes Pentagon faces 

the one who likes Triangle. B does not like 

Triangle. D does not like Pentagon. The 

one who likes Rectangle faces vacant seat 

of row 1. The one, who likes Diamond, 

sits second to the right of the one who 

likes Circle.  

4. Who among the following sits 2nd to 

the left of the one who likes Pentagon? 

A. F 

B. B 

C. D 

D. No one 

E. C 
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5.Who among the following faces the one 

who likes Circle? 

A. F 

B. B 

C. D 

D. E 

E. C 

 

Direction (6 – 9) : In the question below 

are given three statements followed by 

the conclusions. You have to take the 

given statements to be true even if they 

seem to be at variance with commonly 

known facts. Read all the conclusions and 

then decide which of the given 

conclusions logically follows from the 

given statements disregarding commonly 

known facts.  

6.  

Statements: 

Only a few Friends are Relatives. 

All Relatives are Family. 

No Family is Parent. 

Conclusions: 

I. Some Friends are not Relatives 

II. No Relatives are Parents 

A. Only I follows 

B. Only II follows 

C. Either I or II follows 

D. Neither I nor II follows 

E. Both I and II follow 

 

7.Statements: 

No Months are Years. 

All Years are Days. 

Only a few Days are Dates. 

Conclusions: 

I. Some Years are Dates 

II. No Years are Dates 

A. Only I follows 

B. Only II follows 

C. Either I or II follows 

D. Neither I nor II follows 

E. Both I and II follow 

 

8.Statements: 

Only a few Silver are Golden. 

All Golden are Platinum. 

All Platinum are Iron. 

Conclusions: 

I. Some Platinum are Silver 

II. Some Iron are not Silver 

A. Only I follows 

B. Only II follows 

C. Either I or II follows 

D. Neither I nor II follows 

E. Both I and II follow 

 

9.Statements: 

Some Classes are not Students. 

Only a few Students are Teachers. 

Only a few Teachers are Faculties. 

Conclusions: 

I. No Classes are Teachers 

II. Some Students are not Faculties 

A. Only I follows 

B. Only II follows 

C. Either I or II follows 

D. Neither I nor II follows 

E. Both I and II follow 

 

Direction: In the question below are 

given three statements followed by the 

conclusions. You have to take the given 

statements to be true even if they seem 

to be at variance with commonly known 

facts. Read all the conclusions and then 

decide which of the given conclusions 

logically follows from the given 

statements disregarding commonly 

known facts.  

10. Statements: 

All Laptops are Computers. 

Some Computers are not 

Supercomputers. 

Only a few Supercomputers are Abacus. 

Conclusions: 

I. Some Laptops are Abacus 

II. No Abacus are Laptops 

A. Only I follows 

B. Only II follows 

C. Either I or II follows 

D. Neither I nor II follows 

E. Both I and II follow 

 

Direction (11 – 15) : Study the 

following information carefully and 

answer the given questions. 

 

Ten friends - A, B, C, D, Q, P, K, J, E and 

G each score different marks in exam and 

no two friends score same marks. A 

always scores less marks than C. D 

always scores more marks than Q. P 

always scores more marks than D. B 

always scores less marks than Q. B 
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always scores more marks than C. Each 

time either G scores highest and E scores 

the lowest or alternatively K scores the 

highest and A or J scores the lowest.  

11.  

If J is rank 8 and E is rank 5 and G always 

scores more than P then which of the 

following condition is true? 

A. K rank is 2 

B. D rank is 4 

C. B rank is 6 

D. P rank is 2 

E. None of these 

 

12.If K is rank 4 and J always scores more 

than A but less than C then which of the 

following condition is true? 

A. P always scores more than K but less 

than J. 

B. A rank is 3 

C. K always scores more than Q but less 

than P. 

D. J scores second lowest marks. 

E. None of these 

 

13.If G rank is 3 and A rank is 9 and E 

scores the third lowest marks then who 

among the following scores the fifth 

highest marks? 

A. Q 

B. D 

C. B 

D. J 

E. None of these 

 

14.If A scores the lowest marks and J 

scores the fourth lowest marks then how 

many persons score more marks than G? 

A. Three 

B. Two 

C. Four 

D. More than four 

E. Cannot be determined 

 

15.If G always scores more than P but 

less than E and neither A nor E scores the 

lowest marks the what is the rank of A? 

A. 10 

B. 7 

C. 9 

D. 5 

E. None of these 

 

Direction (16 – 20) : Study the 

following information carefully to answer 

the given question: 

 

There are seven managers namely, 

Lokesh, Manish, Naresh, Om, Piyush, 

Qureshi and Ram. All of them manage 

different teams, viz, Perth Lions, Sydney 

Sixers, Brisbane Heat, Melbourne Stars, 

Sydney Thunders, Adelaide Strikers and 

Hobart Hurricanes but not necessarily in 

the same order. Each of the teams has 

one captain, viz- Smith, Farhan, Adam, 

Saurav, Shane, Ricky and Chris but not 

necessarily in the same order. Captains 

belong to three different countries, viz, 

Sri Lanka, Africa and Australia. At least 

two captains are from the same country. 

 

Om has a team named Sydney Sixers, the 

captain of this team is Adam. Naresh and 

Qureshi selected the captain from Sri 

Lanka. Naresh has Adelaide Strikers but 

doesn't have captain either Farhan or 

Saurav. The one who has team Hobart 

Hurricanes has captain from Australia, 

with only Om. Piyush has Perth Lions and 

Captain of Perth Lions is Saurav, who is 

not from Srilanka. Shane is the captain of 

that team which is managed by Qureshi. 

Ricky is the captain of Hobart Hurricanes 

but neither his manager is Manish. Ram 

manages Melbourne Stars. The one who 

manages Sydney Thunders has no 

captain from Africa, from where there are 

three captains. Chris is not the captain of 

Brisbane Heat or Adelaide Strikers and 

Belongs to Africa.  

16. Who among the following is from 

Africa? 

A. Smith 

B. Adam 

C. Saurav 

D. Farhan 

E. Both C and D 

 

17.Which of the following captains are 

from Srilanka? 

A. Chris and Saurav 

B. Adam, Ricky and Shane 

C. Smith and Shane 

D. Farhan and Saurav 

E. None of these 
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18.Who among the following has captain 

from Africa? 

A. Qureshi, Lokesh and Ram 

B. Piyush, Ram and Manish 

C. Ram, Piyush and Lokesh 

D. Om, Manish and Naresh 

E. None of these 

 

19.Who is the captain of Melbourne 

Stars? 

A. Chris 

B. Adam 

C. Smith 

D. Ricky 

E. Can't say 

 

20.Which of the following combination is 

true? 

A. Lokesh- Hobart Hurricanes- Ricky- Sri 

Lanka 

B. Om-Adelaide Strikers- Adam- Africa 

C. Piyush-Africa-Saurav-Perth Lions 

D. Ram-Melbourne Stars- Shane- Africa 

E. Manish- Farhan - Srilanka – Brisbane 

Heat 

 

Direction (21 – 25) : Study the 

following information and answer the 

given questions. 

In the table given below, the expenditure 

and the percentage of the saving of five 

persons is given. 

 
Note: Income = Expenditure + Saving 

 

21.  

What is the ratio of the total income of 

Ritik to Sahil? 

A. 1 : 2 

B. 3 : 4 

C. 2 : 3 

D. 4 : 5 

E. 6 : 5 

 

22.What is the average of the saving of 

Piyush and Girish? 

A. Rs. 2450 

B. Rs. 2250 

C. Rs. 2320 

D. Rs. 2560 

E. Rs. 2600 

 

23.If Ankit spent 20% of the expenditure 

on food, 35% of the remaining on rent 

and remaining expenditure on children’s 

fees, what is the difference between the 

amount of saving and the amount that he 

spent on children’s fees? 

A. Rs. 500 

B. Rs. 640 

C. Rs. 540 

D. Rs. 720 

E. None of these 

 

24.If Sahil invested his saving in a 

scheme which offers the simple interest 

of 12% p.a., what will be the total amount 

of interest earned by him after 2.5 years? 

A. Rs. 2250 

B. Rs. 1800 

C. Rs. 2500 

D. Rs. 2400 

E. Rs. 2000 

 

25.The ratio of the income of Piyush to 

Ankush is 10 : 9 and the ratio of their 

expenditure is 6 : 5, what is the ratio of 

the saving of Piyush to Ankush? 

A. 10 : 9 

B. 8 : 9 

C. 10 : 11 

D. 7 : 5 

E. 11 : 12 

 

Direction (26 – 30) : Study the 

following information and answer the 

given questions. 

In the pie chart given below, the 

percentage distribution of the amount 

invested by five different friends, A, B, C, 

D and E in a business is given. 
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Note: Use this pie chart to find the 

investment of a person only. All persons 

are not doing business at same time. 

 

26.  

If B and C started the business together 

but after 8 months C left the business. 

What is the total profit share of C at the 

end of the year out of the total profit of 

Rs. 10240 

A. Rs. 3840 

B. Rs. 3650 

C. Rs. 4060 

D. Rs. 3540 

E. Rs. 3600 

 

27.If A and E started a business together 

and the ratio of their time periods of the 

investment is 11 : 10, what is the profit 

share ratio of A to E? 

A. 4 : 5 

B. 2 : 3 

C. 3 : 5 

D. 3 : 4 

E. 6 : 7 

 

28.D and F started a business together 

and F invested Rs. 2250 more than D. F 

left the business after 9 months of the 

starting of the business. What is the total 

profit share at the end of the year, if the 

difference between the profit share of D 

and F is Rs. 6000? 

A. Rs. 50000 

B. Rs. 54000 

C. Rs. 45000 

D. Rs. 48000 

E. None of these 

29.What will be the central angle for the 

investment of D if it is put in the form of 

a pie-chart? 

A. 120° 

B. 80° 

C. 45° 

D. 60° 

E. 90° 

 

30.A and B started a business by 

investing the capital and for x months D 

also joined the business. If the profit 

share of D at the end of the year is Rs. 

12500 out of the total profit share of Rs. 

33500, what is the value of x? 

A. 9 

B. 8 

C. 10 

D. 6 

E. None of these 

 

Direction (31 – 35) : Study the 

following information and answer the 

given questions. 

In the line chart given below, the number 

of chocolates of two companies Cadbury 

and Amul sold by shopkeeper in five 

different months – January, February, 

March, April and May is given. 

 
 

31. What is the average number of the 

Cadbury chocolates sold by shopkeeper in 

all given five months? 

A. 132 

B. 124 

C. 140 

D. 154 

E. 160 

 

32.The selling price of Amul chocolate is 

Rs. 24 and shopkeeper earns 20% profit 

after selling the chocolates. What is the 
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total profit earn by shopkeeper after 

selling the Amul chocolates in January, 

February and March? 

A. Rs. 1200 

B. Rs. 1500 

C. Rs. 1600 

D. Rs. 1800 

E. None of these 

 

33.What is the difference between the 

number of Cadbury chocolates sold by 

shopkeeper in March and May together 

and the number of Amul chocolates sold 

by shopkeeper in March and April 

together? 

A. 10 

B. 20 

C. 15 

D. 18 

E. 24 

 

34.If the ratio of the number of Cadbury 

chocolates sold by shopkeeper in May to 

June is 4 : 5 and the ratio of the number 

of Amul chocolates sold by shopkeeper in 

May to June is 3 : 4, what is the total 

number of Cadbury and Amul chocolates 

sold by shopkeeper in June? 

A. 240 

B. 360 

C. 300 

D. 280 

E. 200 

 

35.The number of Amul chocolates sold 

by shopkeeper in January and February 

together is what percentage of the 

number of Cadbury chocolates sold by 

shopkeeper in April and May together? 

A. 80% 

B. 160% 

C. 112.5% 

D. 72% 

E. 90% 

 

Direction (36 – 40) : Study the 

following information and answer the 

given questions. 

Four companies P, Q, R and S have 

different number of male and female 

employees. In Company P, Ratio of 

female and male employees is 5 : 4 

respectively. Number of female 

employees in company R is 600 more 

than male employees in Company P. In 

Company Q, number of male and female 

employees are equal. number of male 

employees in company S is 400 more 

than the double of female employees in 

company P. Number of female employees 

in company S is 2250. Ratio of number of 

male and female employees in company 

S is 8 : 9. Total number of male 

employees in all four companies is 5500. 

Number of male employees in company R 

is double the female employees in 

company P. 

 

36.  

What is the ratio of the number of female 

employees in company P to R? 

A. 20 : 29 

B. 10 : 11 

C. 20 : 31 

D. 19 : 21 

E. None of these 

 

37.What is the total number of male and 

female employees in company R? 

A. 2760 

B. 2540 

C. 2620 

D. 2480 

E. 2840 

 

38.40% of the male employees in 

company Q and 55% of the female 

employees in company Q are married. 

What is the total number of male and 

female employees who are not married? 

A. 1323 

B. 1522 

C. 1428 

D. 1620 

E. 1222 

 

39.What is the total number of female 

employees in all four companies? 

A. 5450 

B. 5550 

C. 5620 

D. 5330 

E. None of these 

 

40.Total number of male and female 

employees in company P is what percent 
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of the number of male employees in 

company S? 

A. 80% 

B. 75% 

C. 64% 

D. 70% 

E. None of these 

 

Direction (41 – 50) : Read the following 

passage carefully and answers the 

questions that follow. Certain words are 

given in bold to help you locate them 

while answering some of the questions. 

Development in its theoretical aspect in 

the Third World has never been a straight 

job because of the historical complexities 

of such societies. In the language of the 

laity, development for the poor means 

less poverty, more equity, less 

unemployment. Added, of late, to these 

are the concerns for a better 

environmental protection. While all that is 

important for a society to develop, are 

notion of development extends itself to a 

more comprehensive goal of human 

development taking it from the aggregate 

to the individual level. 

Experts keep arranging and rearranging 

the development notions because they 

have discovered macro or meso-

economic achievement do not always 

settle down at the micro level. The one 

outcome of these efforts is the 

recognition that development is multi-

disciplinary exercise, not just an 

economic proposition. It involves 

objectives and goals, the plurality of 

which may often look confounding. The 

enormous changes in the world economic 

scenario and the process of the Third 

World development have shown the inter-

dependence of nations. But it also shows 

such interdependence is still for a large 

part asymmetrical, threatening the very 

goal of development with both political 

and economic ramifications and widening 

the divide. To correct that situation and 

secure development efforts from 

mercantile predators, it must be viewed 

as global propositions, that development 

in one country to region percolates into 

other by, force of market economy. It has 

to be recognized that the central 

questions in the evaluation of 

development economics is whether it has 

contributed to narrowing the global 

welfare gap. One example of predatory 

mercantilism is the demand of the donor 

countries for structural adjustment of 

poor economies which led to devastating 

results in some Latin American and 

African countries. 

Poverty has become widespread in urban 

Latin American and African countries 

because adjustment was made in an 

unfriendly environment without adequate 

preparations. The important point about 

structural adjustment is to equip people 

and involve them in the globalization 

process. The crucial point for successful 

development strategy is the political 

commitment of the authorities and 

building up a social security structure for 

the poor. The Indian experience with the 

various government sponsored guarantee 

schemes, and their failure in some of the 

areas, show that building a social security 

network is mainly a political exercise. In 

contrast, we have seen in China how 

organizational instrumental brought 

about a very large number of rural 

infrastructural investment projects which 

laid the foundation of a successful 

agricultural development. There are less 

instance of undernourishment in China 

which had also recorded a better access 

to such public services as health and 

education. The result of the differing 

achievements of the two countries could 

be seen in the significant difference in life 

expectancy of 20 for China as against 9 

for India. 

Source: https://www.theatlantic.com  

41. According to the passage, which 

country(s) does the author refers to when 

he mentions ‘such societies' ? 

 

I. India and China 

II. Latin American and African countries 

III. Developing countries 

IV. Nations inter-dependent on each 

other 

A. Only I 

B. Only II 

C. Only III 

D. Both I and II 
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E. None of these 

 

42.Which of the following statement(s) 

can definitely be concluded from the 

passage? 

I. Politics has dominated the Indian 

scenario. 

II. Many third world nations are in the 

clutches of too much interdependence. 

III. China is much better off than India 

IV. Development encompasses the 

nations as well as the nationalists. 

V. Political commitment precedes social 

welfare as well as achievements. 

A. Only I 

B. Both I and II 

C. Only III 

D. Both III and IV 

E. Only V 

 

43.Which of the following statements 

is/are NOT TRUE according to the 

passage? 

I. Development is a mere theory today 

II. Economic achievements have not 

always reached to the roots. 

III. Interdependence of nations results in 

a divide. 

A. Only I 

B. Only II 

C. Only III 

D. Both I and II 

E. Both I and III 

 

44.According to the author, what do 

common people perceive as 

'development' ? 

 

I. Adequate preparation even if the 

atmosphere is not amicable 

II. More equity resulting in better access 

to public and social services. 

III. Well sponsored government schemes. 

IV. Termination of mercantilism. 

A. Only I 

B. Only II 

C. Only III 

D. Both II and IV 

E. None of these 

 

45.Which of the following statement(s) 

can be inferred from the given passage? 

 

I.The development status for any country 

is an economic measure mostly. 

II. The social security structure is 

important aspect for any country which 

must not be missed while devising a 

development strategy. 

III. India leads the board, with a better 

rate of expectancy as compared to China. 

A. Only I 

B. Only II 

C. Only III 

D. Both II and III 

E. Both I and II 

 

46.According to the passage, what can be 

definitely said about China? 

I. China is way better than India in 

establishing a more organized industrial 

structure. 

II. China is ahead of India in terms of 

health and education. 

III. China's rate of rural and agricultural 

development is quite high as compared to 

India. 

A. Only I 

B. Only II 

C. Both II and III 

D. Only III 

E. Both I and III 

 

47.Which of the following is most nearly 

the SAME in meaning as word printed in 

bold letters as used in context of the 

passage? 

Laity 

A. Novice 

B. Layman 

C. Ignorant 

D. Commoners 

E. Professionals 

 

48.Which of the following is most nearly 

the SAME in meaning as word printed in 

bold letters as used in context of the 

passage?  

Predators 

A. Exploiter 

B. Exploited 

C. Hunter 

D. Carnivorous 

E. Mighty 
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49.Which of the following is most nearly 

the Opposite in meaning as word 

printed in bold letters as used in context 

of the passage? 

Plurality 

A. Orthodox 

B. Fanaticism 

C. Conservatism 

D. Unilateral 

E. None of these 

 

50.Which of the following is most nearly 

the Oppposite in meaning as word 

printed in bold letters as used in context 

of the passage? 

Devastating 

A. Ruinous 

B. Conducive 

C. Hopeless 

D. Futile 

E. Helpless 

 

Direction: A sentence divided into four 

parts (A), (B), (C) and (D) is given. The 

errors are in two parts of the sentence. 

Determine the parts which require 

correction and mark it as your answer. If 

the sentence is correct, mark the answer 

as "No error".  

51. If the source of power (A)/ lies neither 

in the physical or in the moral qualities 

(B)/ of him who possesses it, it must 

evidently be looked for elsewhere (C)/--

in relation to the people of the man which 

wields the power. (D) 

A. A-B 

B. B-C 

C. C-D 

D. B-D 

E. No error 

 

Direction: A sentence divided into four 

parts (A), (B), (C) and (D) is given. The 

errors are in two parts of the sentence. 

Determine the parts which require 

correction and mark it as your answer. If 

the sentence is correct, mark the answer 

as ‘No error’.  

52. She was about to walk in on in defeat 

(A)/ and take her place in a dark corner 

(B)/ watched the party goers when she 

heard (C)/ the sounds of approaching 

footsteps. (D) 

A. A-B 

B. C-D 

C. B-C 

D. A-C 

E. No error 

 

Direction: A sentence divided into four 

parts (A), (B), (C) and (D). There are 

errors in two parts of the sentence. 

Determine the pair of parts which require 

correction and mark it as your answer. If 

the sentence is correct, mark the answer 

as "No error".  

53. She evidently felt unable (A)/ to look 

at him without laughing but could not 

resist looking to him (B)/ so to be out of 

temptation (C)/ she slipped quietly 

behind one of the column. (D) 

A. A-C 

B. B-D 

C. B-C 

D. C-D 

E. No error 

 

Direction: A sentence divided into four 

parts (A), (B), (C) and (D) is given. The 

errors are in two parts of the sentence. 

Determine the parts which require 

correction and mark it as your answer. If 

the sentence is correct as it is, mark the 

answer as ‘No error’.  

54. Graffiti and wall morals may be (A)/ 

a resent development in the Indian (B)/ 

public art scene, but the artists involved 

(C)/ have taken to it like fish in water. (D) 

A. A-B 

B. C-D 

C. B-C 

D. A-C 

E. No error 

 

Direction: A sentence divided into four 

parts (A), (B). (C) and (D) is given. The 

errors are in two parts of the sentence. 

Determine the parts which require 

correction and mark it as your answer. If 

the sentence is correct as it is, mark the 

answer as ‘No error’.  

55. Making a great thriller is (A)/ already 

challenging, but (B)/ to do it so well with 

an anime (C)/ movie deserves special 

attention. (D) 

A. A-B 
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B. C-D 

C. B-C 

D. A-C 

E. No error 

 

Direction: Select the phrase/connector 

from the given options which can be used 

to form a single sentence from the two 

sentences given below, implying the 

same meaning as expressed in the 

statement sentences. Pick out the option 

which when used to start a sentence 

combines both the above sentences in 

one.  

56.  

The revised project document mentions 

Port Led Development for aiding port-led 

industrialisation in its project documents. 

This would pave way for the Sagar Mala 

Project. 

I. To pave way for the  

II. With the mention of …. revised project 

document aims to pave 

III. To initiate the Sagar Mala project, 

A. Only I 

B. Both II and III 

C. Both I an II 

D. Both I and III 

E. All of the above 

 

Direction:Select the phrase/connector 

from the given options which can be used 

to form a single sentence from the two 

sentences given below, implying the 

same meaning as expressed in the 

statement sentences. Pick out the option 

which when used to start a sentence 

combines both the above sentences in 

one.  

57. The church leaders highlighted the 

contribution of the church in the state 

through its chain of 3,500 educational 

and medical institutions. The charge of 

forceful conversions, the crux of the 

controversy, was left unaddressed. 

I. The local church leaders rose to 

denounce the charges against them as 

they ... however ... 

II. Defensive in their rebuttal, .... 

however ... 

III. In the face of heated public debate, 

.... however ....  

A. Only I 

B. Only II 

C. Only III 

D. Both I and II 

E. All of the above 

 

Direction: Select the phrase/connector 

from the given options which can be used 

to form a single sentence from the two 

sentences given below, implying the 

same meaning as expressed in the 

statement sentences. Pick out the option 

which when used to start a sentence 

combines both the above sentences in 

one.  

58. Religion may have little to do with the 

violence that broke out in West Bengal's 

Malda district earlier this month. With 

every day it is becoming clearer that it 

has much more to do with the thriving 

poppy cultivation in the area that is 

allegedly taking place with state 

authorities turning a blind eye. 

I. Religion may have little to do with 

II. Earlier this month, violence broke out 

III. With every day it is becoming clearer 

A. Only I 

B. Only II 

C. Only III 

D. Both I and III 

E. All of the above 

 

Direction:Select the phrase/connector 

from the given options which can be used 

to form a single sentence from the two 

sentences given below, implying the 

same meaning as expressed in the 

statement sentences. Pick out the option 

which when used to combine both the 

above sentences in one.  

59. Measuring corruption and the costs of 

corruption has been a challenge for the 

international community. The increasing 

availability of survey and polls by many 

institutions, containing data on different 

dimensions of governance, has permitted 

the construction of a worldwide 

governance databank. 

I but the challenge is being reduced with 

II and thus is aiding 

III therefore the challenge has arisen 

A. Only I 

B. Only II 

C. Both II and III 
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D. Both I and III 

E. All of the above 

 

Direction:Select the phrase/connector 

from the given options which can be used 

to form a single sentence from the two 

sentences given below, implying the 

same meaning as expressed in the 

statement sentences. Pick out the option 

which when used to combine both the 

above sentences in one.  

60. The Soviet launch of the first artificial 

satellite, Sputnik, in 1957 set off a 

superpower space race. The launch 

prompted American leaders to look at the 

American education system, and 

specifically at ways in which the teaching 

and achievement levels in math and 

science could be dramatically improved. 

I. thus, instigating the 

II. hence, prompting the 

III. however it led to prompting 

A. Both I and II 

B. Only I 

C. Only II 

D. Both II and III 

E. All of the above 

 

Direction (61 – 70) : Read the given 

passage carefully and answer the 

questions that follow. Certain words are 

printed in bold to help you locate them 

while answering some of these. 

Startups cannot operate in a vacuum, 

they need a supporting eco-system to 

nurture them. Entrepreneurs have been 

setting up businesses in India since the 

kingdom came into existence. How did 

this community sustain entrepreneurship 

over the ages? By developing a 

sustainable eco-system that matched the 

needs of the traditional businesses. 

The core of this eco-system is the 

incubation facility within the business that 

enabled the next generation 

entrepreneur to dabble in incremental 

innovation, funded by angel funding 

drawn from the surplus generated by the 

cash cow of the business. Prototypes 

were developed and test marketed 

through access to vendors and 

distributors and the sales force. Timely 

customer feedback on the prototype led 

to building the minimum viable product 

and the soft market launch. 

Those from non-business communities 

lacked the vital eco-system for creating a 

startup. Education, particularly technical 

education, drew them as a means for 

joining ‘service’ and pursuing a rising 

career which they considered superior to 

dhandha. 

However, the emergence of technology 

as the key driver of a venture and the 

consequent necessity of professional 

education for new venture creation has 

forever botched up the age-old 

divergence in mindset. Leading the tech 

charge has been Information Technology 

which required the founding team to have 

computer science graduates. Moreover, 

these technology-based new-age 

businesses qualified as ventures and not 

dhandha in the minds of first-generation 

entrepreneurs from the non-business 

community and so were acceptable. 

Along with the technology came the 

professional network or eco-system – 

with substantial support from US-based 

NRIs. Indians in the USA, irrespective of 

their surnames, pursued knowledge-

based new venture creation with vigour 

and succeeded with support from the eco-

system. Over the past couple of decades, 

an equivalent eco-system has been 

getting in place in the country for the new 

age ventures starting with the well-

intentioned mentor and gradually 

extending to growth-stage investors who 

are the Venture Capitalists and Private 

Equity players, and not excluding the 

markets – from US-based customers for 

the IT ventures right down to Tier 3 city-

based consumers for the e-commerce 

ventures! 

E-Cells in Engineering colleges has been 

influential in triggering awareness, 

interest, desire and action toward 

entrepreneurship among students from 

non-business communities. The catalyst 

for encouraging college managements to 

set up E-Cells was NEN, the National 

Entrepreneurship Network, set up by the 

US-based Wadhwani Foundation. Besides 

E-Cells, the number of higher education 

institutions setting up incubation centres 
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is increasing with private players chipping 

in by rolling out startup accelerators. 

However, the paucity of experienced 

mentors and domain experts restricts the 

effectiveness of these institutions. 

Entrepreneurship is the youngest 

academic discipline in India, little 

more than a decade in existence. This 

is leading to a mismatch between the 

start-up entrepreneurs’ need and the 

availability of faculty and mentor 

expertise. 

 

Is the government doing anything to 

promote first-generation 

entrepreneurship? Of course. Much is 

expected from the follow-up steps to the 

Start Up India initiative launched on 16th 

January. In a fundamental way, the vision 

for Start Up India parallels that of the 

Green and White Revolutions, which had 

champions – Dr Swaminathan and Dr 

Kurian - to both sets the vision and 

execute sustainably at the grass-root 

level. 

So now India generates entrepreneurs 

from all communities, whether first-

generation entrepreneurs from non-

business communities or next-generation 

members from traditional family 

businesses. Truly a remarkable feat 

achieved in less than 3 decades! 

Source: 

https://www.forbesindia.com/article/spji

mr/entrepreneurship-in-india-then-and-

now/46701/1 

 

61. Which of the following can be 

correctly inferred from the given 

passage? 

I. The environment in India is not 

conducive for startups to operate 

properly. 

II. The policies of the Indian government 

are not at all helpful for the startups to 

flourish on Indian soil. 

III. Startups need a sustaining ecosystem 

to flourish and India provides that 

ecosystem for the startups. 

A. Only I 

B. Only II 

C. Both I and II 

D. Only III 

E. All of the above 

 

62.Which of the following groups of 

regional rural banks (RRB) of Uttar 

Pradesh are to be merged into a single 

regional rural bank, Baroda UP Bank by 

1st April, 2020? 

A. Prathama UP Gramin Bank, Baroda 

Uttar Pradesh Grameen Bank, Kashi 

Gomti Samyut Gramin Bank 

B. Baroda Uttar Pradesh Grameen Bank, 

Kashi Gomti Samyut Gramin Bank and 

Purvanchal Bank 

C. Aryavart Bank, Kashi Gomti Samyut 

Gramin Bank and Purvanchal Bank 

D. Aryavart Bank, Kashi Gomti Samyut 

Gramin Bank and Prathama UP Gramin 

Bank 

E. Prathama UP Gramin Bank, Kashi 

Gomti Samyut Gramin Bank and 

Purvanchal Bank 

 

63.35th ASAEAN Summit 2019 was held in 

which city? 

A. Jakarta, Indonesia 

B. Bangkok, Thailand 

C. Kuala Lumpur, Malaysia 

D. Hanoi, Vietnam 

E. Manila, Philippines 

 

64.Which city hosted the 25th session of 

the Conference of the Parties (COP 25)? 

A. Paris, France 

B. New York, USA 

C. Toronto, Canada 

D. Hamburg, Germany 

E. Madrid, Spain 

 

65.What is the name of platform that will 

be launched by Bank of Baroda, to 

provide solutions to all major agricultural 

requirements? 

A. Baroda Kisan 

B. Baroda Kisan Mitra 

C. Baroda Agro Solution 

D. Baroda Krishi Gyan 

E. Baroda Agri 

 

66.Who has been announced as a brand 

ambassador of German multinational 

brand PUMA? 

A. Hima Das 

B. Saina Nehwal 
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C. Sunil Chhetri 

D. P B Sindhu 

E. M S Dhoni 

 

67.Nagarhole National Park is located in 

which state? 

A. Kerala 

B. Karnataka 

C. Tamil Nadu 

D. Odisha 

E. Goa 

 

68.Who becomes the first Indian to play 

150 Ranji matches? 

A. Cheteshwar Pujara 

B. Pankaj Dharmani 

C. Amarjit Kaypee 

D. Mithun Manhas 

E. Wasim Jaffer 

 

69.13th South Asian Games was 

organized in which country? 

A. Bhutan 

B. Nepal 

C. Sri Lanka 

D. Maldives 

E. Pakistan 

 

70.Minister of Environment, Forest and 

Climate Change, Prakash Javadekar 

announced the approval of the new 

‘Gorewada International Zoo’ in 

________. 

A. Ahmedabad, Gujarat 

B. Nagpur, Maharashtra 

C. Mangalore, Karnataka 

D. Vijayawada, Andhra Pradesh 

E. Puri, Odisha 

 

71.Which city has hosted the 6th World 

Congress on “Rural and Agricultural 

Finance (WCRAF) held in November 

2019? 

A. Paris, France 

B. Beijing, China 

C. New Delhi, India 

D. New York, USA 

E. Brasilia, Brazil 

 

72.Which country’s King Carl XVI Gustaf 

and Queen Silvia visited India on 

December 2019? 

A. Denmark 

B. Norway 

C. Poland 

D. Sweden 

E. Finland 

 

73.Bilateral military exercise ‘INDRA 

2019’ was conducted between which two 

countries? 

A. USA And France 

B. Indonesia and India 

C. India and Russia 

D. India and USA 

E. Israel and Russia 

 

74.The Reserve Bank of India (RBI) has 

increased the limits imposed on peer-to-

peer lenders to _____. 

A. 10 lakh 

B. 20 Lakh 

C. 30 lakh 

D. 40 lakh 

E. 50 lakh 

 

75.The fund transfers through the NEFT 

system occurs in how many batches? 

A. 6 

B. 12 

C. 16 

D. 23 

E. 24 

 

76.Nippon which acquires additional 

21.54% stake in Reliance Nippon Life 

Asset Management is a company of which 

country? 

A. China 

B. Russia 

C. USA 

D. Japan 

E. South Korea 

 

77.RBI rejects merger of which two 

banks? 

A. Yes Bank and IndiaBulls 

B. Laxmi Vilas Bank and IndiaBulls 

C. Yes Bank and Dhanlaxmi Bank 

D. Dhanlaxmi Bank and Edelweiss 

Broking Limited 

E. None of these 

 

78.Who has been declared FIFA Player of 

the year award for the 6th time? 

A. Sunil Chhetri 
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B. Lionel Messi 

C. Neymar 

D. Manuel Neuer 

E. Luka Modric 

 

79.Pravind Jugnauth is Prime Minister of 

Which country? 

A. Maldives 

B. Mauritius 

C. Nepal 

D. Sri Lanka 

E. Surinam 

 

80.NOTO Summit 2019 was held in ___? 

A. Montrea 

B. Quebec 

C. Atlanta 

D. Ontario 

E. Halifax 

 

81.Headquarter of Jana Small Finance 

Bank is located in which city? 

A. Kolkata 

B. Lucknow 

C. Bengaluru 

D. New Delhi 

E. Chennai 
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निरे्दश (1 – 5) : निम्‍िलिखित‍ जािकारी‍ को‍
ध्‍यािपूर्वक‍पढ़ें‍और‍उस‍पर‍आधाररत‍प्रश्‍िों‍के‍उत्‍तर‍
र्द़ें। 
 
A, B, C, D, E, F, G और‍H एक‍सीधी‍पंक्‍‍त‍
म़ें‍बैठे‍हैं, िेककि‍आर्श्‍यक‍िहीं‍है‍कक‍इसी‍क्रम‍म़ें‍
हों।‍उिम़ें‍स‍ेकुछ‍का‍मुि‍र्दक्षिण‍म़ें‍जबकक‍कुछ‍
का‍मुि‍उत्‍तर‍म़ें‍है।‍(िोट:‍समाि‍दर्दशा‍का‍अर्व‍है‍
कक‍यदर्द‍एक‍व्यक्‍‍त‍का‍मुि‍उत्‍तर‍की‍ओर‍है‍तो‍
र्दसूरे‍का‍मुि‍भी‍उत्‍तर‍की‍ओर‍है‍और‍यदर्द‍एक‍
व्यक्‍‍त‍का‍मुि‍र्दक्षिण‍की‍ओर‍है‍तो‍र्दसूरे‍व्यक्‍‍त‍
का‍मुि‍भी‍र्दक्षिण‍की‍ओर‍है।‍वर्परीत‍दर्दशा‍का‍
अर्व‍है‍कक‍यदर्द‍एक‍व्यक्‍‍त‍का‍मुि‍उत्‍तर‍की‍ओर‍
है‍तो‍र्दसूरे‍व्यक्‍‍त‍का‍मुि‍र्दक्षिण‍की‍ओर‍है‍और‍
इसके‍वर्परीत‍है।) 
 
E का‍मुि‍उत्‍तर‍की‍ओर‍है।‍E की‍र्दाईं‍ओर‍केर्ि‍
तीि‍िोग‍बैठे‍हैं।‍E और‍B के‍बीच‍केर्ि‍र्दो‍िोग‍
बैठे‍हैं।‍F, H की‍बाईं‍ओर‍स‍ेतीसरे‍स्र्ाि‍पर‍बैठता‍
है।‍H ि‍तो‍E और‍ि‍ही‍B का‍एक‍ निकटतम‍
पडोसी‍है।‍H पंक्‍‍त‍के‍ककसी‍भी‍छोर‍पर‍िहीं‍बैठा‍
है।‍D के‍र्दोिों‍निकटतम‍पडोलसयों‍का‍मुि‍र्दक्षिण‍
की‍ओर‍है।‍D, H का‍निकटतम‍पडोसी‍िहीं‍है।‍D 
और‍A के‍बीच‍केर्ि‍एक‍ही‍व्यक्‍‍त‍बैठता‍है।‍A 
का‍मुि‍H की‍समाि‍दर्दशा‍म़ें‍है।‍B के‍निकटतम‍
पडोसी‍वर्परीत‍दर्दशाओं‍म़ें‍रे्दिते‍हैं‍(अर्ावत‍्यदर्द‍एक‍
पडोसी‍उत्‍तर‍दर्दशा‍म़ें‍रे्दिता‍है‍तो‍र्दसूरा‍र्दक्षिण‍की‍
ओर‍रे्दिता‍है‍और‍इसके‍वर्परीत)।‍अंनतम‍लसरों‍पर‍
बैठे‍व्यक्‍‍त‍वर्परीत‍दर्दशाओं‍म़ें‍रे्दिते‍हैं।‍C, D की‍
वर्परीत‍दर्दशा‍म़ें‍रे्दिता‍है।‍D अंनतम‍छोर‍पर‍िही‍ं
बैठा‍है।  
1. E और‍A के‍बीच‍ककतिे‍व्‍यक्‍‍त‍बैठे‍हैं? 
A. चार 
B. चार‍से‍अधधक 
C. एक 
D. तीि 
E. र्दो 
 

2.र्दी‍गई‍बैठक‍व्‍यर्स्‍र्ा‍के‍संर्दभव‍म़ें‍निम्‍ि‍म़ें‍स‍े
कौि‍सा‍G के‍संर्दभव‍म़ें‍सत्‍य‍है? 
A. G और‍B के‍बीच‍केर्ि‍र्दो‍व्‍यक्‍‍त‍बैठे‍हैं। 
B. G की‍र्दाईं‍ओर‍केर्ि‍एक‍व्‍यक्‍‍त‍बैठता‍है। 
C. दर्दया‍गया‍कोई‍वर्कल्‍प‍सत्‍य‍िहीं‍है। 
D. F, G का‍एक‍निकटतम‍पडोसी‍है। 
E. C, G की‍र्दाईं‍ओर‍स‍ेर्दसूरे‍स्‍र्ाि‍पर‍बैठता‍है। 
 
3.र्दी‍गई‍व्‍यर्स्‍र्ा‍म़ें‍निम्‍ि‍पांच‍म़ें‍स‍ेचार‍अपिे‍
स्‍र्ाि‍के‍आधार‍पर‍ककसी‍निक्श्‍चत‍प्रकार‍स‍ेसमाि‍
हैं‍और‍एक‍समूह‍बिात‍ेहैं।‍इिम़ें‍स‍ेकौि‍सा‍समूह‍
से‍संबंधधत‍िहीं‍है? 
A. C 
B. F 
C. A 
D. H 
E. E 
 
निरे्दश: निम्‍िलिखित‍जािकारी‍को‍ ध्‍यािपूर्वक‍पढ़ें‍
और‍उस‍पर‍आधाररत‍प्रश्‍िों‍के‍उत्‍तर‍र्द़ें। 
 
आठ‍लमत्र‍अर्ावत‍्A, B, C, D, E, F, G और‍H 
िे‍एक‍रेस्तरां‍म़ें‍र्दोपहर‍का‍भोजि‍करि‍ेका‍निणवय‍
ककया।‍र्े‍र्दो‍समािांतर‍पंक्‍‍तयों‍म़ें‍बैठे‍हैं, प्रत्येक‍
पंक्‍त‍म़ें‍पांच‍सीट़ें‍हैं।‍प्रत्येक‍पंक्‍‍त‍म़ें‍एक‍रर‍‍त‍
सीट‍ है, िेककि‍र्े‍ रर‍‍त‍सीट़ें‍एक-र्दसूरे‍ के‍सामिे‍
िहीं‍हैं।‍C, E, D और‍G पंक्‍‍त‍1‍म़ें‍बैठे‍हैं‍और‍
उिका‍मुि‍र्दक्षिण‍की‍ओर‍है, जबकक‍A, B, H और‍
F पंक्‍‍त‍2‍म़ें‍बैठे‍हैं‍और‍उिका‍मुि‍उत्‍तर‍की‍ओर‍
है।‍उन्ह़ें‍वर्लभन्ि‍आकृनतया‍ंअर्ावत‍्त्रत्रभुज, पंचभुज, 
षटभुज, अष्‍टभुज, र्तृ्‍त, र्गव, आयत‍और‍ डायमंड‍
पसंर्द‍है, िेककि‍आर्श्‍यक‍िहीं‍है‍कक‍इसी‍क्रम‍म़ें‍
हो। 
 
षटभुज‍को‍पसंर्द‍करि‍ेर्ािा‍व्यक्‍‍त‍H की‍र्दाईं‍ओर‍
से‍र्दसूरे‍स्‍र्ाि‍पर‍बैठता‍है, िकेकि‍ककसी‍भी‍अंनतम‍
छोर‍ पर‍ िहीं‍ बैठता‍ है।‍ षटभुज‍ पसंर्द‍ करि‍े र्ाि‍े
व्यक्‍‍त‍के‍सामिे‍बैठा‍व्‍यक्‍‍त‍पंक्‍‍त‍1‍की‍रर‍‍त‍
सीट‍के‍ठीक‍बाईं‍ओर‍बैठता‍है।‍पंक्‍‍त‍2‍की‍िािी‍
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सीट‍और‍A के‍ बीच‍ केर्ि‍एक‍ व्यक्‍‍त‍ बैठा‍ है।‍
पंक्‍‍त‍2‍की‍रर‍‍त‍सीट‍के‍सामिे‍बैठा‍व्‍यक्‍‍त‍E 
है, जो‍र्गव‍को‍पसंर्द‍करता‍है।‍C, E की‍र्दाईं‍ओर‍
से‍तीसरे‍स्‍र्ाि‍पर‍बैठता‍है।‍जो‍त्रत्रभुज‍पसंर्द‍करता‍
है, र्ह‍C के‍सामिे‍बैठे‍व्‍यक्‍‍त‍का‍एक‍निकटतम‍
पडोसी‍ है।‍जो‍पंचभुज‍पसंर्द‍करता‍ है, र्ह‍ त्रत्रभुज‍
पसंर्द‍करि‍ेर्ाि‍ेव्‍यक्‍‍त‍के‍सामिे‍है।‍B को‍त्रत्रभुज‍
पसंर्द‍िहीं‍ है।‍D को‍पंचभुज‍पसंर्द‍िहीं‍ है।‍ क्जस‍े
आयत‍पसंर्द‍है‍र्ह‍पंक्‍‍त‍1‍की‍रर‍‍त‍सीट‍के‍सामिे‍
है।‍क्जसे‍डायमंड‍पसंर्द‍है, र्ह‍र्तृ्‍त‍पसंर्द‍करिे‍र्ािे‍
व्‍यक्‍‍त‍की‍र्दाईं‍ओर‍स‍ेर्दसूरे‍स्‍र्ाि‍पर‍बैठता‍है।  
4. निम्‍ि‍म़ें‍स‍ेकौि‍पंचभुज‍को‍पसंर्द‍करि‍ेर्ाि‍े
की‍बाईं‍ओर‍से‍र्दसूरे‍स्‍र्ाि‍पर‍बैठता‍है? 
A. F 
B. B 
C. D 
D. कोई‍िहीं 
E. C 
 
5.निम्‍ि‍म़ें‍से‍कौि‍र्तृ्‍त‍पसंर्द‍करि‍ेर्ािे‍के‍सामिे‍
बैठता‍है? 
A. F 
B. B 
C. D 
D. E 
E. C 
 
निरे्दश (6 – 9) : िीचे‍दर्दए‍गए‍प्रश्ि‍म़ें‍तीि‍कर्िों‍
के‍बार्द‍कुछ‍निष्‍कषव‍दर्दए‍गए‍हैं। आपको‍दर्दए‍गए‍
कर्िों‍को‍सत्य‍माििा‍ है, भि‍ेही‍र्े‍सामान्यतः‍
ज्ञात‍तथ्यों‍के‍सार्‍वर्चरण‍करत‍ेहों। सभी‍निष्कषों‍
को‍पढ़ें‍और‍किर‍निणवय‍कऱें‍कक‍दर्दए‍गए‍निष्‍कषों‍
म़ें‍से‍कौि‍सा/से‍निष्कषव‍सामान्यतः‍ज्ञात‍तथ्यों‍की‍
अर्हेििा‍करत‍ेहुए‍दर्दए‍गए‍कर्िों‍का‍ताककव क‍रूप‍
से‍अिुसरण‍करता/करत‍ेहै/हैं। 
 
6. कर्ि: 
केर्ि‍कुछ‍फ्ऱें ड्स, ररिेदटव्‍स‍हैं। 
सभी‍ररिेदटव्‍स, िैलमिी‍हैं। 

कोई‍िैलमिी, पेऱेंट‍िहीं‍है। 
निष्‍कषव: 
I. कुछ फै्रड्स, ररिेदटव्‍स िहीं‍हैं। 
II. कोई‍ररिेदटव्स, पेऱेंट्स‍िहीं‍हैं। 
A. केर्ि I अिुसरण‍करता‍है 
B. केर्ि II अिुसरण‍करता‍है 
C. या‍तो I या II अिुसरण‍करता‍है 
D. ि‍तो I ि‍ही II अिुसरण‍करता‍है 
E. र्दोिों I और II अिुसरण‍करते‍हैं 
 
7.कर्ि: 
कोई‍महीिे, र्षव‍िहीं‍हैं। 
सभी‍र्षव, दर्दर्स‍हैं। 
केर्ि‍कुछ‍दर्दर्स, नतधर्यां‍हैं। 
निष्‍कषव: 
I. कुछ‍र्षव, नतधर्यां‍हैं। 
II. कोई‍र्षव, नतधर्यां‍िहीं‍हैं। 
A. केर्ि I अिुसरण‍करता‍है 
B. केर्ि II अिुसरण‍करता‍है 
C. या‍तो I या II अिुसरण‍करता‍है 
D. ि‍तो I ि‍ही II अिुसरण‍करता‍है 
E. र्दोिों I और II अिुसरण‍करते‍हैं 
 
8.कर्ि: 
केर्ि‍कुछ‍लसल्‍र्र, गोल्‍डि‍हैं। 
सभी‍गोल्डि, प्िैदटिम‍हैं। 
सभी‍प्िैदटिम, आयरि‍हैं। 
निष्‍कषव: 
I. कुछ‍प्िैदटिम, लसल्र्र‍हैं। 
II. कुछ‍आयरि, लसल्र्र‍िहीं‍हैं। 
A. केर्ि I अिुसरण‍करता‍है 
B. केर्ि II अिुसरण‍करता‍है 
C. या‍तो I या II अिुसरण‍करता‍है 
D. ि‍तो I ि‍ही II अिुसरण‍करता‍है 
E. र्दोिों I और II अिुसरण‍करते‍हैं 
 
9.कर्ि: 
कुछ‍‍‍िालसस, स्‍टूड़ेंट्स‍िहीं‍हैं। 
केर्ि‍कुछ‍स्‍टूड़ेंट्स, टीचसव‍हैं। 
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केर्ि‍कुछ‍टीचसव, िैकल्‍टी‍हैं। 
निष्‍कषव: 
I. कोई‍‍‍िालसस, टीचसव‍िहीं‍है। 
II. कुछ‍स्‍टूड़ेंट्स, िैकल्‍टी‍िहीं‍हैं। 
A. केर्ि I अिुसरण‍करता‍है 
B. केर्ि II अिुसरण‍करता‍है 
C. या‍तो I या II अिुसरण‍करता‍है 
D. ि‍तो I ि‍ही II अिुसरण‍करता‍है 
E. र्दोिों I और II अिुसरण‍करत‍ेहैं 
 
निरे्दश : िीचे‍दर्दए‍गए‍प्रश्ि‍म़ें‍तीि‍कर्िों‍के‍बार्द‍
कुछ‍निष्‍कषव‍दर्दए‍गए‍हैं। आपको‍दर्दए‍गए‍कर्िों‍
को‍सत्य‍माििा‍है, भि‍ेही‍र्े‍सामान्यतः‍ज्ञात‍तथ्यों‍
के‍सार्‍ वर्चरण‍करत‍े हों। सभी‍ निष्कषों‍को‍ पढ़ें‍
और‍किर‍ निणवय‍कऱें‍ कक‍दर्दए‍गए‍निष्‍कषों‍म़ें‍स‍े
कौि‍ सा/से‍ निष्कषव‍ सामान्यतः‍ ज्ञात‍ तथ्यों‍ की‍
अर्हेििा‍करत‍ेहुए‍दर्दए‍गए‍कर्िों‍का‍ताककव क‍रूप‍
से‍अिुसरण‍करता/करत‍ेहै/हैं। 
 
10. कर्ि: 
सभी‍िैपटॉप, कंप्यूटसव‍हैं। 
कुछ‍कंप्यूटसव, सुपरकंप्यूटसव‍िहीं‍हैं। 
केर्ि‍कुछ‍सुपरकंप्यूटसव, अबेकस‍हैं। 
निष्‍कषव: 
I. कुछ‍िैपटॉप्‍स, अबेकस‍हैं। 
II. कोई‍अबेकस, िैपटॉप‍िहीं‍है। 
A. केर्ि I अिुसरण‍करता‍है 
B. केर्ि II अिुसरण‍करता‍है 
C. या‍तो I या II अिुसरण‍करता‍है 
D. ि‍तो I ि‍ही II अिुसरण‍करता‍है 
E. र्दोिों I और II अिुसरण‍करत‍ेहैं 
 
निरे्दश (11 – 15) : निम्‍िलिखित जािकारी का 
ध्‍यािपूर्वक अध्‍ययि कऱें तर्ा िीचे दर्दए गए प्रश्‍िों 
के उत्‍तर र्द़ें। 
 
र्दस लमत्र अर्ावत ्A, B, C, D, Q, P, K, J, E और 
G परीिा म़ें अिग-अिग अकं स्‍कोर करत ेहैं और 
कोई भी र्दो लमत्र समाि अंक स्‍कोर िहीं करत ेहैं। A 

हमेशा C स ेकम अंक स्कोर करता है। D हमेशा Q 
से अधधक अंक स्कोर करता है। P हमेशा D से 
अधधक अंक स्कोर करता है। B हमेशा Q से कम 
अंक स्कोर करता है। B हमेशा C से अधधक अंक 
स्कोर करता है। प्रत्‍येक बार या तो G अधधकतम 
स्कोर करता है तर्ा E न्‍यूितम स्कोर करता है या 
र्ैकक्ल्पक रूप से K अधधकतम अंक स्कोर करता है 
और A या J न्‍यूितम अंक स्कोर करता है। 
 
11. यदर्द J का रैंक 8 है और E का रैंक 5 है तर्ा 
G हमेशा P से अधधक अंक स्कोर करता है तो निम्ि 
म़ें स ेकौि सा वर्कल्‍प सही है? 
A. K का रैंक 2 है 
B. D का रैंक 4 है 
C. B का रैंक 6 है 
D. P का रैंक 2 है 
E. इिम़ें स ेकोई िहीं 
 
12.यदर्द K का रैंक 4 है और J हमेशा A से अधधक, 
िेककि C से कम अंक स्कोर करता है तो निम्ि म़ें 
से कौि सी क्स्र्नत सही है? 
A. P हमेशा K से अधधक िेककि J स ेकम अंक 
स्कोर करता है 
B. A का रैंक 3 है 
C. K हमेशा Q स ेअधधक िकेकि P स ेकम अंक 
स्कोर करता है 
D. J र्दसूरे न्‍यूितम अंक स्‍कोर करता है 
E. इिम़ें स ेकोई िहीं 
 
13.यदर्द G का रैंक 3 है और A का रैंक 9 है तर्ा 
E तीसरे सबस ेकम अंक स्कोर करता है, तो निम्ि 
म़ें स ेकौि पांचऱ्ें उच्चतम अंक स्‍कोर करता है? 
A. Q 
B. D 
C. B 
D. J 
E. इिम़ें स ेकोई िहीं 
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14.यदर्द A न्‍यूितम अंक स्‍कोर करता है और J चौरे् 
सबसे कम अंक स्‍कोर करता है, तो ककतिे व्यक्‍तयों 
िे G स ेअधधक अंक स्‍कोर ककए? 
A. तीि 
B. र्दो 
C. चार 
D. चार से अधधक 
E. निधावररत िहीं ककया जा सकता 
 
15.यदर्द G हमेशा P से अधधक, िेककि E से कम 
अंक स्कोर करता है और ि तो A और ि ही E िे 
सबसे कम अंक स्‍कोर ककए हैं, तो A का रैंक ‍या 
है? 
A. 10 
B. 7 
C. 9 
D. 5 
E. इिम़ें से कोई िहीं 
 
निरे्दश (16 – 20) : िीचे‍दर्दए‍गए‍प्रश्‍िों‍के‍उत्‍तर‍
रे्दिे‍के‍लिए‍निम्िलिखित‍जािकारी‍का‍ध्यािपूर्वक‍
अध्ययि‍कऱें: 
 
िोकेश, मिीष, िरेश, ओम, पीयूष, कुरैशी‍और‍राम‍
सात‍ प्रबंधक‍ हैं।‍ ये‍सभी‍अिग-अिग‍टीमों‍जैसे-‍
पर्व‍िायंस, लसडिी‍लस‍ससव, त्रिसबेि‍हीट, मेिबिव‍
स्टासव, लसडिी‍रं्डसव, एडडिेड‍स्राइकसव‍और‍होबाटव‍
ह्यूररक़ें स‍का‍प्रबंधि‍करत‍ेहैं, िेककि‍आर्श्‍यक‍िहीं‍
है‍कक‍इसी‍क्रम‍म़ें‍हों।‍प्रत्येक‍टीम‍म़ें‍एक‍कप्‍ताि‍
जैसे-‍क्स्मर्, िरहाि, एडम, सौरर्, शेि, ररकी‍और‍
कक्रस‍है, िेककि‍आर्श्‍यक‍िहीं‍है‍कक‍इसी‍क्रम‍म़ें‍
हो।‍ कप्‍ताि‍ तीि‍ अिग-अिग‍ रे्दशों‍ जैस‍े श्रीिंका, 
अफ्रीका‍और‍ऑस्रेलिया‍स‍ेसबंंधधत‍हैं।‍कम‍स‍ेकम‍
र्दो‍कप्‍ताि‍एक‍ही‍रे्दश‍के‍हैं। 
 
ओम‍के‍पास‍लसडिी‍लस‍ससव‍टीम‍है, इस‍टीम‍का‍
कप्‍ताि‍ एडम‍ हैं।‍ िरेश‍और‍ कुरैशी‍ िे‍ श्रीिंका‍स‍े
कप्‍ताि‍ का‍ चयि‍ ककया।‍ िरेश‍ के‍ पास‍ एडडिेड‍
स्राइकसव‍है‍िेककि‍उिका‍कप्‍ताि‍िरहाि‍या‍सौरर्‍

िहीं‍है।‍क्जसके‍पास‍टीम‍होबाटव‍ह्यूररक़ें स‍है, उसिे‍
ऑस्रेलिया‍ से‍ कप्‍ताि‍ ओम‍ का‍ चयि‍ ककया‍ है।‍
पीयूष‍ के‍ पास‍ पर्व‍ िायंस‍ हैं‍और‍ पर्व‍ िायंस‍ के‍
कप्‍ताि‍सौरर्‍हैं, जो‍श्रीिंका‍से‍िहीं‍हैं।‍शेि‍उस‍
टीम‍के‍कप्‍ताि‍हैं‍जो‍कुरैशी‍द्र्ारा‍प्रबंधधत‍है।‍ररकी‍
होबाटव‍ह्यूररक़ें स‍के‍कप्‍ताि‍हैं‍िेककि‍उिके‍प्रबंधक‍
मिीष‍िहीं‍हैं।‍राम‍मेिबिव‍स्टासव‍का‍प्रबंधि‍करत‍े
हैं।‍ लसडिी‍ रं्डसव‍ का‍ प्रबंधि‍ करि‍े र्ाि‍े के‍ पास‍
अफ्रीका‍का‍कोई‍कप्‍ताि‍िहीं‍है, जहां‍स‍ेतीि‍कप्‍ताि‍
हैं।‍ कक्रस‍ त्रिस्बेि‍ हीट‍ या‍ एडडिेड‍ स्राइकसव‍ का‍
कप्‍ताि‍िहीं‍है‍और‍र्ह‍अफ्रीका‍से‍संबंधध‍त‍है।  
16. निम्‍ि‍म़ें‍से‍कौि‍अफ्रीका‍से‍है? 
A. क्स्‍मर् 
B. एडम 
C. सौरर् 
D. िरहाि 
E. C और‍D र्दोिों 
 
17.निम्‍ि‍म़ें‍से‍कौि‍सा‍कप्‍ताि‍श्रीिंका‍से‍है? 
A. कक्रस‍और‍सौरर् 
B. एडम, ररकी‍और‍शेि 
C. क्स्‍मर्‍और‍शेि 
D. िरहाि‍और‍सौरर् 
E. इिम़ें‍स‍ेकोई‍िहीं 
 
18.निम्‍ि‍म़ें‍से‍ककसके‍पास‍अफ्रीका‍का‍कप्‍ताि‍है? 
A. कुरैशी, िोकेश‍और‍राम 
B. पीयूष, राम‍और‍मिीष 
C. राम, पीयूष‍और‍िोकेश 
D. ओम, मिीष‍और‍िरेश 
E. इिम़ें‍स‍ेकोई‍िहीं 
 
19.मेिबिव‍स्‍टासव‍का‍कप्‍ताि‍कौि‍है? 
A. कक्रस 
B. एडम 
C. क्स्‍मर् 
D. ररकी 
E. कहा‍िहीं‍जा‍सकता 
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20.निम्‍ि‍म़ें‍से‍कौि‍सा‍संयोजि‍सत्‍य‍है? 
A. िोकेश-‍होबाटव‍ह्यूररक़ें स-‍ररकी-‍श्रीिंका 
B. ओम-‍एडडिेड‍स्‍राइकसव-‍एडम-‍अफ्रीका 
C. पीयूष-‍अफ्रीका-‍सौरर्-‍पर्व‍िायंस 
D. राम-‍मेिबिव‍स्‍टासव-‍शेि-‍अफ्रीका 
E. मिीष-‍िरहाि-‍श्रीिंका-‍त्रिसबेि‍हीट 
 
निरे्दश (21 – 25) : निम्िलिखित‍ जािकारी‍ का‍
अध्ययि‍कऱें‍और‍दर्दए‍गए‍प्रश्िों‍के‍उत्तर‍र्द़ें। 
िीचे‍र्दी‍गई‍तालिका‍म़ें, पांच‍व्यक्‍तयों‍की‍बचत‍
का‍प्रनतशत‍और‍व्यय‍दर्दया‍गया‍है। 

 
िोट: आय = व्यय + बचत 
 
21. ऋनतक‍और‍सादहि‍की‍कुि‍आय‍का‍अिुपात‍
ककतिा‍है? 
A. 1 : 2 
B. 3 : 4 
C. 2 : 3 
D. 4 : 5 
E. 6 : 5 
 
22.पीयूष‍और‍धगरीश‍की‍बचत‍का‍औसत‍ककतिा‍
है? 
A. 2450 रूपये 
B. 2250 रूपये 
C. 2320 रूपये 
D. 2560 रूपये 
E. 2600 रूपये 
 
23.यदर्द‍अंककत‍िे‍भोजि‍पर‍िचव‍का 20%, ककराए‍
पर‍शेष‍का 35% और‍बच्चों‍की‍िीस‍पर‍शेष‍िचव‍
ककया‍है, तो‍बचत‍की‍रालश‍और‍बच्चों‍की‍िीस‍पर‍
िचव‍की‍गई‍रालश‍के‍बीच‍का‍अंतर‍ककतिा‍है? 

A. 500 रूपये 
B. 640 रूपये 
C. 540 रूपये 
D. 720 रूपये 
E. इिम़ें‍स‍ेकोई‍िहीं 
 
24.यदर्द‍सादहि‍िे‍अपिी‍बचत‍को 12% प्रनतर्षव‍के‍
साधारण‍ब्याज‍र्ािी‍योजिा‍म़ें‍निर्ेश‍ककया‍है, तो‍
उसके‍द्र्ारा 2.5 र्षव‍म़ें‍अक्जवत‍ब्याज‍की‍कुि‍रालश‍
ककतिी‍होगी? 
A. 2250 रूपये 
B. 1800 रूपये 
C. 2500 रूपये 
D. 2400 रूपये 
E. 2000 रूपये 
 
25.पीयूष‍और‍अंकुश‍की‍आय‍का‍अिुपात 10: 9 
है‍और‍उिके‍व्यय‍का‍अिुपात 6: 5 है, पीयूष‍और‍
अंकुश‍की‍बचत‍का‍अिुपात‍‍या‍होगा? 
A. 10 : 9 
B. 8 : 9 
C. 10 : 11 
D. 7 : 5 
E. 11 : 12 
 
निरे्दश (26 – 30) : निम्िलिखित‍ जािकारी‍ का‍
अध्ययि‍कऱें‍और‍दर्दए‍गए‍प्रश्िों‍के‍उत्तर‍र्द़ें। 
िीचे‍ दर्दए‍गए‍ पाई‍चाटव‍ म़ें, एक‍ व्यापार‍म़ें‍ पांच‍
अिग-अिग‍र्दोस्तों‍- A, B, C, D और E द्र्ारा‍
निर्ेश‍की‍गई‍रालश‍का‍प्रनतशत‍वर्तरण‍दर्दया‍गया‍
है। 

http://www.gradeup.com/


www.gradeup.co 
 
 

 
21 

 

 
िोट:‍ केर्ि‍ ककसी‍एक‍व्यक्‍त‍के‍ निर्ेश‍का‍पता‍
िगािे‍के‍लिए‍इस‍पाई‍चाटव‍का‍उपयोग‍कऱें।‍सभी‍
व्यक्‍त‍एक‍ही‍समय‍म़ें‍व्यर्साय‍िहीं‍कर‍रहे‍हैं। 
 
26. यदर्द B और C िे‍एक‍सार्‍व्यापार‍शुरू‍ककया‍
िेककि 8 महीिे‍बार्द C िे‍व्यर्साय‍छोड‍दर्दया।‍तो 
10240 रुपये‍के‍कुि‍िाभ‍म़ें‍से‍र्षव‍के‍अंत‍म़ें C 
के‍कुि‍िाभ‍का‍दहस्सा‍ककतिा‍होगा? 
A. 3840 रूपये 
B. 3650 रूपये 
C. 4060 रूपये 
D. 3540 रूपये 
E. 3600 रूपये 
 
27.यदर्द A और E िे‍एक‍सार्‍एक‍व्यापार‍शुरू‍
ककया‍और‍उिके‍निर्ेश‍की‍समयार्धध‍का‍अिुपात 
11: 10 है, तो A से E के‍िाभ‍के‍दहस्से‍का‍अिुपात‍
‍या‍होगा? 
A. 4 : 5 
B. 2 : 3 
C. 3 : 5 
D. 3 : 4 
E. 6 : 7 
 
28.D और F िे‍लमिकर‍एक‍व्यर्साय‍शुरू‍ककया‍
और F िे D से 2250 रुपये‍अधधक‍निर्ेश‍ककये। F 
िे‍व्यर्साय‍शुरू‍होिे‍के 9 महीिे‍बार्द‍व्यर्साय‍छोड‍

दर्दया।‍ र्षव‍ के‍ अंत‍ म़ें‍ कुि‍िाभ‍का‍ दहस्सा‍ ‍या‍
होगा, यदर्द D और F के‍िाभ‍के‍दहस्सों‍के‍बीच‍का‍
अंतर 6000 रूपये‍है? 
A. 50000 रूपये 
B. 54000 रूपये 
C. 45000 रूपये 
D. 48000 रूपये 
E. इिम़ें‍स‍ेकोई‍िहीं 
 
29.यदर्द‍ पाई-चाटव‍ के‍ रूप‍म़ें‍ रिा‍जाए‍ तो D के‍
निर्ेश‍का‍क़ें द्रीय‍कोण‍‍या‍होगा? 
A. 120° 
B. 80° 
C. 45° 
D. 60° 
E. 90° 
 
30.A और B िे‍पूंजी‍िगाकर‍एक‍व्यर्साय‍शुरू‍
ककया‍और x महीिे‍के‍लिए D भी‍इस‍व्यर्साय‍म़ें‍
शालमि‍हो‍गया।‍यदर्द‍र्षव‍के‍अंत‍म़ें D के‍िाभ‍का‍
दहस्सा 33500 रुपये‍के‍कुि‍िाभ‍शेयर‍म़ें‍से 12500 
रुपये‍है, तो x का‍माि‍‍या‍होगा? 
A. 9 
B. 8 
C. 10 
D. 6 
E. इिम़ें‍स‍ेकोई‍िहीं 
 
निरे्दश (31 – 35) : निम्िलिखित‍ जािकारी‍ का‍
अध्ययि‍कऱें‍और‍दर्दए‍गए‍प्रश्िों‍के‍उत्तर‍र्द़ें।‍िीचे‍
दर्दए‍गए‍िाइि‍चाटव‍म़ें, पांच‍अिग-अिग‍महीिों‍-‍
जिर्री, िरर्री, माचव, अप्रैि‍और‍मई‍म़ें‍र्दकुािर्दार‍
द्र्ारा‍बेची‍गई‍र्दो‍कंपनियों‍कैडबरी‍और‍अमूि‍की‍
चॉकिेट‍की‍संख्या‍र्दी‍गई‍है। 
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31. सभी‍पााँच‍महीिों‍म़ें‍र्दकुािर्दार‍द्र्ारा‍बेची‍जािे‍
र्ािी‍कैडबरी‍चॉकिेट‍की‍औसत‍संख्या‍ककतिी‍है? 
A. 132 
B. 124 
C. 140 
D. 154 
E. 160 
 
32.अमूि‍चॉकिेट‍का‍वर्क्रय‍मूल्य 24 रुपये‍है‍और‍
चॉकिेट‍ बेचिे‍ के‍ बार्द‍ र्दकुािर्दार 20% का‍ िाभ‍
कमाता‍ है।‍ जिर्री, िरर्री‍ और‍ माचव‍ म़ें‍ अमूि‍
चॉकिेट‍बेचिे‍के‍बार्द‍र्दकुािर्दार‍का‍कुि‍िाभ‍‍या‍
होगा? 
A. 1200 रूपये 
B. 1500 रूपये 
C. 1600 रूपये 
D. 1800 रूपये 
E. इिम़ें‍से‍कोई‍िहीं 
 
33.माचव‍ और‍ मई‍ म़ें‍ र्दकुािर्दार‍ द्र्ारा‍ बेची‍ गई‍
कैडबरी‍चॉकिेट‍की‍संख्या‍और‍माचव‍तर्ा‍अप्रैि‍म़ें‍
र्दकुािर्दार‍द्र्ारा‍बेची‍गई‍अमूि‍चॉकिेट‍की‍संख्या‍
म़ें‍ककतिा‍अंतर‍है? 
A. 10 
B. 20 
C. 15 
D. 18 
E. 24 
 

34.यदर्द‍र्दकुािर्दार‍द्र्ारा‍मई‍और‍जूि‍म़ें‍बेची‍जािे‍
र्ािी‍कैडबरी‍चॉकिेट‍की‍संख्या‍का‍अिुपात 4: 5 
है‍और‍मई‍और‍जूि‍म़ें‍र्दकुािर्दार‍द्र्ारा‍बेची‍गई‍
अमूि‍चॉकिेट‍की‍संख्या‍का‍अिुपात 3: 4 है, तो‍
जूि‍म़ें‍र्दकुािर्दार‍द्र्ारा‍बेचीं‍गई‍कैडबरी‍और‍अमूि‍
चॉकिेट‍की‍कुि‍संख्या‍ककतिी‍है? 
A. 240 
B. 360 
C. 300 
D. 280 
E. 200 
 
35.र्दकुािर्दार‍द्र्ारा‍जिर्री‍और‍िरर्री‍म़ें‍बेची‍गई‍
अमूि‍ चॉकिेट‍ की‍ संख्या‍ अप्रैि‍ और‍ मई‍ म़ें‍
र्दकुािर्दार‍द्र्ारा‍बेची‍गई‍कैडबरी‍चॉकिेट‍की‍संख्या‍
का‍ककतिा‍प्रनतशत‍है? 
A. 80% 
B. 160% 
C. 112.5% 
D. 72% 
E. 90% 
 
निरे्दश (36 – 40) : निम्िलिखित‍ जािकारी‍ का‍
अध्ययि‍कऱें‍और‍दर्दए‍गए‍प्रश्िों‍के‍उत्तर‍र्द़ें। 
चार‍कंपनियों P, Q, R और S म़ें‍पुरुष‍और‍मदहिा‍
कमवचाररयों‍की‍अिग-अिग‍संख्या‍है।‍कंपिी P म़ें, 
मदहिा‍और‍पुरुष‍कमवचाररयों‍का‍अिुपात‍क्रमशः 5: 
4 है।‍ कंपिी R म़ें‍मदहिा‍कमवचाररयों‍की‍संख्या‍
कंपिी P म़ें‍ पुरुष‍कमवचाररयों‍की‍ तुििा‍म़ें 600 
अधधक‍है।‍कंपिी Q म़ें‍पुरुष‍और‍मदहिा‍कमवचाररयों‍
की‍संख्या‍बराबर‍है।‍कंपिी S म़ें‍पुरुष‍कमवचाररयों‍
की‍संख्या‍कंपिी P म़ें‍मदहिा‍कमवचाररयों‍के‍र्दोगुिे‍
से 400 अधधक‍है।‍कंपिी S म़ें‍मदहिा‍कमवचाररयों‍
की‍संख्या 2250 है।‍कंपिी S म़ें‍पुरुष‍और‍मदहिा‍
कमवचाररयों‍की‍संख्या‍का‍अिुपात 8: 9 है।‍सभी‍
चार‍कंपनियों‍म़ें‍कुि‍पुरुष‍कमवचारी‍की‍संख्या 5500 
हैं।‍कंपिी R म़ें‍पुरुष‍कमवचाररयों‍की‍संख्या‍कंपिी 
P म़ें‍मदहिा‍कमवचाररयों‍से‍र्दोगुिी‍है। 
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36. कंपिी P और R म़ें‍ मदहिा‍ कमवचाररयों‍ की‍
संख्या‍का‍अिुपात‍‍या‍होगा? 
A. 20 : 29 
B. 10 : 11 
C. 20 : 31 
D. 19 : 21 
E. इिम़ें‍से‍कोई‍िहीं 
 
37.कंपिी R म़ें‍पुरुष‍और‍मदहिा‍कमवचाररयों‍की‍
कुि‍संख्या‍ककतिी‍है? 
A. 2760 
B. 2540 
C. 2620 
D. 2480 
E. 2840 
 
38.कंपिी Q म़ें 40% पुरुष‍कमवचारी‍और‍कंपिी Q 
म़ें 55% मदहिा‍कमवचारी‍ वर्र्ादहत‍हैं।‍अवर्र्ादहत‍
पुरुष‍और‍मदहिा‍कमवचाररयों‍की‍कुि‍संख्या‍ककतिी‍
है? 
A. 1323 
B. 1522 
C. 1428 
D. 1620 
E. 1222 
 
39.सभी‍चार‍कंपनियों‍म़ें‍मदहिा‍कमवचाररयों‍की‍कुि‍
संख्या‍ककतिी‍है? 
A. 5450 
B. 5550 
C. 5620 
D. 5330 
E. इिम़ें‍से‍कोई‍िहीं 
 
40.कंपिी P म़ें‍पुरुष‍और‍मदहिा‍कमवचाररयों‍की‍
कुि‍संख्या‍कंपिी S म़ें‍पुरुष‍कमवचाररयों‍की‍संख्या‍
का‍ककतिा‍प्रनतशत‍है? 
A. 80% 
B. 75% 

C. 64% 
D. 70% 
E. इिम़ें‍स‍ेकोई‍िहीं 
 
Direction (41 – 50) : Read the following 
passage carefully and answers the 
questions that follow. Certain words are 
given in bold to help you locate them while 
answering some of the questions. 
Development in its theoretical aspect in the 
Third World has never been a straight job 
because of the historical complexities of 
such societies. In the language of the laity, 
development for the poor means less 
poverty, more equity, less unemployment. 
Added, of late, to these are the concerns 
for a better environmental protection. While 
all that is important for a society to develop, 
are notion of development extends itself to 
a more comprehensive goal of human 
development taking it from the aggregate to 
the individual level. 
Experts keep arranging and rearranging the 
development notions because they have 
discovered macro or meso-economic 
achievement do not always settle down at 
the micro level. The one outcome of these 
efforts is the recognition that development 
is multi-disciplinary exercise, not just an 
economic proposition. It involves objectives 
and goals, the plurality of which may often 
look confounding. The enormous changes 
in the world economic scenario and the 
process of the Third World development 
have shown the inter-dependence of 
nations. But it also shows such 
interdependence is still for a large part 
asymmetrical, threatening the very goal of 
development with both political and 
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economic ramifications and widening the 
divide. To correct that situation and secure 
development efforts from mercantile 
predators, it must be viewed as global 
propositions, that development in one 
country to region percolates into other by, 
force of market economy. It has to be 
recognized that the central questions in the 
evaluation of development economics is 
whether it has contributed to narrowing the 
global welfare gap. One example of 
predatory mercantilism is the demand of the 
donor countries for structural adjustment of 
poor economies which led to devastating 
results in some Latin American and African 
countries. 
Poverty has become widespread in urban 
Latin American and African countries 
because adjustment was made in an 
unfriendly environment without adequate 
preparations. The important point about 
structural adjustment is to equip people and 
involve them in the globalization process. 
The crucial point for successful 
development strategy is the political 
commitment of the authorities and building 
up a social security structure for the poor. 
The Indian experience with the various 
government sponsored guarantee schemes, 
and their failure in some of the areas, show 
that building a social security network is 
mainly a political exercise. In contrast, we 
have seen in China how organizational 
instrumental brought about a very large 
number of rural infrastructural investment 
projects which laid the foundation of a 
successful agricultural development. There 
are less instance of undernourishment in 
China which had also recorded a better 

access to such public services as health 
and education. The result of the differing 
achievements of the two countries could be 
seen in the significant difference in life 
expectancy of 20 for China as against 9 for 
India. 
Source: https://www.theatlantic.com  
41. According to the passage, which 
country(s) does the author refers to when 
he mentions ‘such societies' ? 
 
I. India and China 
II. Latin American and African countries 
III. Developing countries 
IV. Nations inter-dependent on each other 
A. Only I 
B. Only II 
C. Only III 
D. Both I and II 
E. None of these 
 
42.Which of the following statement(s) can 
definitely be concluded from the passage? 
I. Politics has dominated the Indian 
scenario. 
II. Many third world nations are in the 
clutches of too much interdependence. 
III. China is much better off than India 
IV. Development encompasses the nations 
as well as the nationalists. 
V. Political commitment precedes social 
welfare as well as achievements. 
A. Only I 
B. Both I and II 
C. Only III 
D. Both III and IV 
E. Only V 
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43.Which of the following statements is/are 
NOT TRUE according to the passage? 
I. Development is a mere theory today 
II. Economic achievements have not always 
reached to the roots. 
III. Interdependence of nations results in a 
divide. 
A. Only I 
B. Only II 
C. Only III 
D. Both I and II 
E. Both I and III 
 
44.According to the author, what do 
common people perceive as 'development' 
? 
 
I. Adequate preparation even if the 
atmosphere is not amicable 
II. More equity resulting in better access to 
public and social services. 
III. Well sponsored government schemes. 
IV. Termination of mercantilism. 
A. Only I 
B. Only II 
C. Only III 
D. Both II and IV 
E. None of these 
 
45.Which of the following statement(s) can 
be inferred from the given passage? 
 
I.The development status for any country is 
an economic measure mostly. 
II. The social security structure is important 
aspect for any country which must not be 
missed while devising a development 
strategy. 

III. India leads the board, with a better rate 
of expectancy as compared to China. 
A. Only I 
B. Only II 
C. Only III 
D. Both II and III 
E. Both I and II 
 
46.According to the passage, what can be 
definitely said about China? 
I. China is way better than India in 
establishing a more organized industrial 
structure. 
II. China is ahead of India in terms of 
health and education. 
III. China's rate of rural and agricultural 
development is quite high as compared to 
India. 
A. Only I 
B. Only II 
C. Both II and III 
D. Only III 
E. Both I and III 
 
47.Which of the following is most nearly the 
SAME in meaning as word printed in bold 
letters as used in context of the passage? 
Laity 
A. Novice 
B. Layman 
C. Ignorant 
D. Commoners 
E. Professionals 
 
48.Which of the following is most nearly the 
SAME in meaning as word printed in bold 
letters as used in context of the passage?  
Predators 
A. Exploiter 
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B. Exploited 
C. Hunter 
D. Carnivorous 
E. Mighty 
 
49.Which of the following is most nearly the 
Opposite in meaning as word printed in 
bold letters as used in context of the 
passage? 
Plurality 
A. Orthodox 
B. Fanaticism 
C. Conservatism 
D. Unilateral 
E. None of these 
 
50.Which of the following is most nearly the 
Oppposite in meaning as word printed in 
bold letters as used in context of the 
passage? 
Devastating 
A. Ruinous 
B. Conducive 
C. Hopeless 
D. Futile 
E. Helpless 
 
Direction: A sentence divided into four parts 
(A), (B), (C) and (D) is given. The errors 
are in two parts of the sentence. Determine 
the parts which require correction and mark 
it as your answer. If the sentence is correct, 
mark the answer as "No error".  
51. If the source of power (A)/ lies neither 
in the physical or in the moral qualities (B)/ 
of him who possesses it, it must evidently 
be looked for elsewhere (C)/--in relation to 
the people of the man which wields the 
power. (D) 

A. A-B 
B. B-C 
C. C-D 
D. B-D 
E. No error 
 
Direction: A sentence divided into four parts 
(A), (B), (C) and (D) is given. The errors 
are in two parts of the sentence. Determine 
the parts which require correction and mark 
it as your answer. If the sentence is correct, 
mark the answer as ‘No error’.  
52. She was about to walk in on in defeat 
(A)/ and take her place in a dark corner 
(B)/ watched the party goers when she 
heard (C)/ the sounds of approaching 
footsteps. (D) 
A. A-B 
B. C-D 
C. B-C 
D. A-C 
E. No error 
 
Direction: A sentence divided into four parts 
(A), (B), (C) and (D). There are errors in 
two parts of the sentence. Determine the 
pair of parts which require correction and 
mark it as your answer. If the sentence is 
correct, mark the answer as "No error".  
53. She evidently felt unable (A)/ to look at 
him without laughing but could not resist 
looking to him (B)/ so to be out of 
temptation (C)/ she slipped quietly behind 
one of the column. (D) 
A. A-C 
B. B-D 
C. B-C 
D. C-D 
E. No error 
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Direction: A sentence divided into four parts 
(A), (B), (C) and (D) is given. The errors 
are in two parts of the sentence. Determine 
the parts which require correction and mark 
it as your answer. If the sentence is correct 
as it is, mark the answer as ‘No error’.  
54. Graffiti and wall morals may be (A)/ a 
resent development in the Indian (B)/ public 
art scene, but the artists involved (C)/ have 
taken to it like fish in water. (D) 
A. A-B 
B. C-D 
C. B-C 
D. A-C 
E. No error 
 
Direction: A sentence divided into four parts 
(A), (B). (C) and (D) is given. The errors 
are in two parts of the sentence. Determine 
the parts which require correction and mark 
it as your answer. If the sentence is correct 
as it is, mark the answer as ‘No error’.  
55. Making a great thriller is (A)/ already 
challenging, but (B)/ to do it so well with 
an anime (C)/ movie deserves special 
attention. (D) 
A. A-B 
B. C-D 
C. B-C 
D. A-C 
E. No error 
 
Direction: Select the phrase/connector from 
the given options which can be used to 
form a single sentence from the two 
sentences given below, implying the same 
meaning as expressed in the statement 
sentences. Pick out the option which when 

used to start a sentence combines both the 
above sentences in one.  
56.  
The revised project document mentions Port 
Led Development for aiding port-led 
industrialisation in its project documents. 
This would pave way for the Sagar Mala 
Project. 
I. To pave way for the  
II. With the mention of …. revised project 
document aims to pave 
III. To initiate the Sagar Mala project, 
A. Only I 
B. Both II and III 
C. Both I an II 
D. Both I and III 
E. All of the above 
 
Direction:Select the phrase/connector from 
the given options which can be used to 
form a single sentence from the two 
sentences given below, implying the same 
meaning as expressed in the statement 
sentences. Pick out the option which when 
used to start a sentence combines both the 
above sentences in one.  
57. The church leaders highlighted the 
contribution of the church in the state 
through its chain of 3,500 educational and 
medical institutions. The charge of forceful 
conversions, the crux of the controversy, 
was left unaddressed. 
I. The local church leaders rose to 
denounce the charges against them as they 
... however ... 
II. Defensive in their rebuttal, .... however 
... 
III. In the face of heated public debate, .... 
however ....  
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A. Only I 
B. Only II 
C. Only III 
D. Both I and II 
E. All of the above 
 
Direction: Select the phrase/connector from 
the given options which can be used to 
form a single sentence from the two 
sentences given below, implying the same 
meaning as expressed in the statement 
sentences. Pick out the option which when 
used to start a sentence combines both the 
above sentences in one.  
58. Religion may have little to do with the 
violence that broke out in West Bengal's 
Malda district earlier this month. With every 
day it is becoming clearer that it has much 
more to do with the thriving poppy 
cultivation in the area that is allegedly 
taking place with state authorities turning a 
blind eye. 
I. Religion may have little to do with 
II. Earlier this month, violence broke out 
III. With every day it is becoming clearer 
A. Only I 
B. Only II 
C. Only III 
D. Both I and III 
E. All of the above 
Direction:Select the phrase/connector from 
the given options which can be used to 
form a single sentence from the two 
sentences given below, implying the same 
meaning as expressed in the statement 
sentences. Pick out the option which when 
used to combine both the above sentences 
in one.  

59. Measuring corruption and the costs of 
corruption has been a challenge for the 
international community. The increasing 
availability of survey and polls by many 
institutions, containing data on different 
dimensions of governance, has permitted 
the construction of a worldwide governance 
databank. 
I but the challenge is being reduced with 
II and thus is aiding 
III therefore the challenge has arisen 
A. Only I 
B. Only II 
C. Both II and III 
D. Both I and III 
E. All of the above 
 
Direction:Select the phrase/connector from 
the given options which can be used to 
form a single sentence from the two 
sentences given below, implying the same 
meaning as expressed in the statement 
sentences. Pick out the option which when 
used to combine both the above sentences 
in one.  
60. The Soviet launch of the first artificial 
satellite, Sputnik, in 1957 set off a 
superpower space race. The launch 
prompted American leaders to look at the 
American education system, and specifically 
at ways in which the teaching and 
achievement levels in math and science 
could be dramatically improved. 
I. thus, instigating the 
II. hence, prompting the 
III. however it led to prompting 
A. Both I and II 
B. Only I 
C. Only II 
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D. Both II and III 
E. All of the above 
 
Direction (61 – 70) : Read the given 
passage carefully and answer the questions 
that follow. Certain words are printed in 
bold to help you locate them while 
answering some of these. 
Startups cannot operate in a vacuum, they 
need a supporting eco-system to nurture 
them. Entrepreneurs have been setting up 
businesses in India since the kingdom 
came into existence. How did this 
community sustain entrepreneurship over 
the ages? By developing a sustainable eco-
system that matched the needs of the 
traditional businesses. 
The core of this eco-system is the 
incubation facility within the business that 
enabled the next generation entrepreneur to 
dabble in incremental innovation, funded by 
angel funding drawn from the surplus 
generated by the cash cow of the business. 
Prototypes were developed and test 
marketed through access to vendors and 
distributors and the sales force. Timely 
customer feedback on the prototype led to 
building the minimum viable product and 
the soft market launch. 
Those from non-business communities 
lacked the vital eco-system for creating a 
startup. Education, particularly technical 
education, drew them as a means for 
joining ‘service’ and pursuing a rising career 
which they considered superior to dhandha. 
However, the emergence of technology as 
the key driver of a venture and the 
consequent necessity of professional 
education for new venture creation has 

forever botched up the age-old divergence 
in mindset. Leading the tech charge has 
been Information Technology which 
required the founding team to have 
computer science graduates. Moreover, 
these technology-based new-age 
businesses qualified as ventures and not 
dhandha in the minds of first-generation 
entrepreneurs from the non-business 
community and so were acceptable. 
Along with the technology came the 
professional network or eco-system – with 
substantial support from US-based NRIs. 
Indians in the USA, irrespective of their 
surnames, pursued knowledge-based new 
venture creation with vigour and succeeded 
with support from the eco-system. Over the 
past couple of decades, an equivalent eco-
system has been getting in place in the 
country for the new age ventures starting 
with the well-intentioned mentor and 
gradually extending to growth-stage 
investors who are the Venture Capitalists 
and Private Equity players, and not 
excluding the markets – from US-based 
customers for the IT ventures right down to 
Tier 3 city-based consumers for the e-
commerce ventures! 
E-Cells in Engineering colleges has been 
influential in triggering awareness, interest, 
desire and action toward entrepreneurship 
among students from non-business 
communities. The catalyst for encouraging 
college managements to set up E-Cells was 
NEN, the National Entrepreneurship 
Network, set up by the US-based 
Wadhwani Foundation. Besides E-Cells, the 
number of higher education institutions 
setting up incubation centres is increasing 
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with private players chipping in by rolling 
out startup accelerators. However, the 
paucity of experienced mentors and domain 
experts restricts the effectiveness of these 
institutions. Entrepreneurship is the 
youngest academic discipline in India, little 
more than a decade in existence. This is 
leading to a mismatch between the start-up 
entrepreneurs’ need and the availability of 
faculty and mentor expertise. 
 
Is the government doing anything to 
promote first-generation entrepreneurship? 
Of course. Much is expected from the 
follow-up steps to the Start Up India 
initiative launched on 16th January. In a 
fundamental way, the vision for Start Up 
India parallels that of the Green and White 
Revolutions, which had champions – Dr 
Swaminathan and Dr Kurian - to both sets 
the vision and execute sustainably at the 
grass-root level. 
So now India generates entrepreneurs from 
all communities, whether first-generation 
entrepreneurs from non-business 
communities or next-generation members 
from traditional family businesses. Truly a 
remarkable feat achieved in less than 3 
decades! 
Source: 
https://www.forbesindia.com/article/spjimr/en
trepreneurship-in-india-then-and-
now/46701/1 
 
61. Which of the following can be correctly 
inferred from the given passage? 
I. The environment in India is not conducive 
for startups to operate properly. 

II. The policies of the Indian government 
are not at all helpful for the startups to 
flourish on Indian soil. 
III. Startups need a sustaining ecosystem 
to flourish and India provides that 
ecosystem for the startups. 
A. Only I 
B. Only II 
C. Both I and II 
D. Only III 
E. All of the above 
 
62.1 अप्रैि, 2020 तक‍उत्तर‍प्ररे्दश‍के‍िते्रीय‍ग्रामीण‍
बैंकों‍ (RRB) के‍ निम्ि‍म़ें‍स‍े ककस‍समूह‍को‍एक‍
एकि‍िेत्रीय‍ग्रामीण‍बैंक, बडौर्दा‍यूपी‍बैंक‍म़ें‍वर्िय‍
ककया‍जािा‍है? 
A. प्रर्म‍ यू.पी‍ ग्रामीण‍ बैंक, बडौर्दा‍ उत्तर‍ प्ररे्दश‍
ग्रामीण‍बैंक, काशी‍गोमती‍सयुंत‍ग्रामीण‍बैंक 
B. बडौर्दा‍ उत्तर‍ प्ररे्दश‍ ग्रामीण‍ बैंक, काशी‍ गोमती‍
संयुत‍ग्रामीण‍बैंक‍और‍पूर्ाांचि‍बैंक 
C. आयावर्तव‍बैंक, काशी‍गोमती‍संयुत‍ग्रामीण‍बैंक‍
और‍पूर्ाांचि‍बैंक 
D. आयावर्तव‍बैंक, काशी‍गोमती‍संयुत‍ग्रामीण‍बैंक‍
और‍प्रर्म‍यू.पी‍ग्रामीण‍बैंक 
E. प्रर्म‍ यू.पी‍ ग्रामीण‍ बैंक, काशी‍ गोमती‍ संयुत‍
ग्रामीण‍बैंक‍और‍पूर्ाांचि‍बैंक 
63.35र्ां‍ आलसयाि‍ लशिर‍ सम्मेिि 2019 ककस‍
शहर‍म़ें‍आयोक्जत‍ककया‍गया‍र्ा? 
A. जकाताव, इंडोिेलशया 
B. बैंकॉक, र्ाईिैंड 
C. कुआिािम्‍परु, मिेलशया 
D. हिोई, वर्यतिाम 
E. मनििा, किलिपींस 
 
64.2019 संयु‍त‍राष्र‍जिर्ायु‍पररर्तवि‍सम्मेिि‍
(COP25) ककस‍रे्दश‍म़ें‍आयोक्जत‍ककया‍गया‍र्ा? 
A. पेररस, फ्रांस 
B. न्यू‍यॉकव , यूएसए 
C. टोरंटो, किाडा 
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D. हेम्बगव, जमविी 
E. मेडिड, स्पेि 
 
65.बैंक ऑि बडोर्दरा द्र्ारा सभी प्रमुि कृवषगत 
आर्श्यकताओं हेतु समाधाि प्रर्दाि करि ेके लिए शरुू 
ककए जािे र्ािे मंच का िाम ‍या है? 
A. बडोर्दरा‍ककसाि 
B. बडोर्दरा‍ककसाि‍लमत्र 
C. बडोर्दरा‍एग्रो‍सॉल्यंूशस 
D. बडोर्दरा‍कृवष‍ज्ञाि 
E. बडोर्दरा एग्री 
 
66.ककसे‍जमवि‍बहुराष्रीय‍िांड‍प्युमा‍के‍िांड‍एंबेसडर‍
के‍रूप‍म़ें‍घोवषत‍ककया‍गया‍है? 
A. हेमा‍र्दास 
B. साइिा‍िेहर्ाि 
C. सुिीि‍छेत्री 
D. पी।‍बी‍लसधुं 
E. एम।‍एस‍धोिी 
 
67.िागरहोि‍राष्‍रीय‍उद्याि‍ककस‍राज्‍य‍म़ें‍क्स्र्त‍
है? 
A. केरि 
B. किावटक 
C. तलमििाडु 
D. उडीसा 
E. गोर्ा 
 
68.150 रणजी‍मैच‍िेिि‍ेर्ािे‍पहिे‍भारतीय‍कौि‍
बि?े 
A. चेतेश्र्र‍पुजारा 
B. पंकज‍धमाविी 
C. अमरजीत‍कयपी 
D. लमरु्ि‍मन्हास 
E. र्सीम‍जािर 
 
69.13 ऱ्ें‍र्दक्षिण‍एलशयाई‍िेिों‍का‍आयोजि‍ककस‍
रे्दश‍म़ें‍ककया‍गया‍र्ा? 
A. भूटाि 

B. िेपाि 
C. श्रीिंका 
D. मािर्दीर् 
E. पाककस्‍ताि 
 
70.पयावर्रण, र्ि‍और‍जिर्ायु‍पररर्तवि‍मंत्री, प्रकाश‍
जार्डेकर‍िे ________ म़ें‍िए ‘गोरेर्ाडा‍अंतरावष्रीय‍
धचडडयाघर’‍को‍मंजूरी‍रे्दिे‍की‍घोषणा‍की। 
A. अहमर्दाबार्द, गुजरात 
B. िागपुर, महाराष्‍र 
C. मैंगिोर, किावटक 
D. वर्जयर्ाडा, आंध्र‍प्ररे्दश 
E. पुरी, ओडडशा 
 
71.िर्ंबर 2019 म़ें‍आयोक्जत‍ “ग्रामीण‍और‍ कृवष‍
वर्त्त‍पर‍वर्श्र्‍कांग्रेस‍(WCRAF)” के‍छठे संस्करण‍
की‍मेजबािी‍ककस‍शहर‍िे‍की? 
A. पेररस, फ्रांस 
B. बीक्जंग, चीि 
C. िई‍दर्दल्िी, भारत 
D. न्यू‍यॉकव , यूएसए 
E. िासीलिया, िाजीि 
 
72.ककस‍ रे्दश‍ के‍ राजा‍कािव‍सोिहऱ्ें‍गुस्ताि‍और‍
रािी‍लसक्ल्र्या‍िे‍दर्दसंबर 2019 को‍भारत‍का‍र्दौरा‍
ककया? 
A. डेिमाकव  
B. िॉर्े 
C. पोिैंड 
D. स्र्ीडि 
E. किििैंड 
 
73.द्वर्पिीय‍सैन्य‍अभ्यास ‘INDRA 2019’ ककि‍
र्दो‍रे्दशों‍के‍बीच‍आयोक्जत‍ककया‍गया‍र्ा? 
A. अमेररका‍और‍फ्रांस 
B. इंडोिेलशया‍और‍भारत 
C. भारत‍और‍रूस 
D. भारत‍और‍अमेररका 
E. इजराइि‍और‍रूस 
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74.भारतीय‍ररजर्व‍बैंक‍(RBI) िे‍पीयर-टू-पीयर‍ि़ेंडसव‍
पर‍िगाई‍गई‍सीमा‍को _____ तक‍बढा‍दर्दया‍है। 
A. 10 िाि 
B. 20 िाि 
C. 30 िाि 
D. 40 िाि 
E. 50 िाि 
 
75.एिईएिटी‍ प्रणािी‍ के‍ माध्यम‍स‍े िंड‍ रांसिर‍
ककतिे‍बैचों‍म़ें‍होता‍है? 
A. 6 
B. 12 
C. 16 
D. 23 
E. 24 
 
76.निप्पॉि‍ क्जसिे‍ ररिायंस‍ निप्पॉि‍ िाइि‍ एसेट‍
मैिेजम़ेंट‍ म़ें 21.54% अनतरर‍त‍ दहस्सेर्दारी‍ का‍
अधधग्रहण‍ककया‍है, ककस‍रे्दश‍की‍कंपिी‍है? 
A. चीि 
B. रूस 
C. यूएसए 
D. जापाि 
E. र्दक्षिण‍कोररया 
 
77.आरबीआई‍िे‍ककि‍र्दो‍बैंकों‍के‍वर्िय‍को‍िाररज‍
कर‍दर्दया‍है? 
A. यस‍बैंक‍और‍इंडडयाबुल्स 
B. इंडडयाबुल्स‍और‍िक्ष्मी‍वर्िास‍बैंक 
C. यस‍बैंक‍और‍धििक्ष्मी‍बैंक 
D. धििक्ष्मी‍बैंक‍और‍एडिर्ाइस‍िोककंग‍लिलमटेड 
E. इिम़ें‍से‍कोई‍िहीं 
 

78.6ठी‍बार‍ककसे‍िीिा‍प्िेयर‍ऑि‍र्द‍ईयर‍पुरस्कार‍
से‍सम्मानित‍ककया‍गया‍है? 
A. सुिीि‍छेत्री 
B. लियोिेि‍मेस्सी 
C. िेमार 
D. मैिुअि‍िेउर 
E. िुका‍मोडिक 
 
79.प्रर्ीण‍जुगिुर्‍ककस‍रे्दश‍के‍प्रधािमंत्री‍हैं? 
A. मािर्दीर् 
B. मॉरीशस 
C. िेपाि 
D. श्रीिंका 
E. सुररिाम 
 
80.िोटो‍(NOTO) लशिर‍सम्मेिि 2019 ___ म़ें‍
आयोक्जत‍ककया‍गया‍र्ा? 
A. मॉक्न्रयि 
B. ‍यूबेक 
C. अटिांटा 
D. ओंटाररयो 
E. हैलिफै‍स 
 
81.जि‍िघु‍वर्त्त‍बैंक‍का‍मखु्यािय‍ककस‍शहर‍म़ें‍
क्स्र्त‍है? 
A. कोिकाता 
B. िििऊ 
C. ब़ेंगिुरु 
D. िई‍दर्दल्िी 
E. चेन्िई 
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###ANSWERS### 

 

1. Ans. D.  

1) E faces north. Only three people sit to 

the right of E. Only two people sit 

between E and B. 

 

 
2) F sits third to the left of H. H is an 

immediate neighbour of neither E nor B. 

H does not sit at any of the extreme ends 

of the line. 

 

 
3) Both the immediate neighbours of D 

face south. D is not an immediate 

neighbour of H. D does not sit at the 

extreme end. 

 

 
4) The immediate neighbours of B face 

opposite directions. Only one person sits 

between D and A. A faces the same 

direction as H. Therefore CASE I is not 

true. 

 
5) Persons sitting at extreme ends face 

opposite directions. C faces a direction 

opposite that of D. 

 
2. Ans. E.  

1) E faces north. Only three people sit to 

the right of E. Only two people sit 

between E and B. 

 

 
2) F sits third to the left of H. H is an 

immediate neighbour of neither E nor B. 

H does not sit at any of the extreme ends 

of the line. 

 

 
3) Both the immediate neighbours of D 

face south. D is not an immediate 
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neighbour of H. D does not sit at the 

extreme end. 

 

 
4) The immediate neighbours of B face 

opposite directions. Only one person sits 

between D and A. A faces the same 

direction as H. Therefore CASE I is not 

true. 

 
5) Persons sitting at extreme ends face 

opposite directions. C faces a direction 

opposite that of D. 

 
3. Ans. B.  

1) E faces north. Only three people sit to 

the right of E. Only two people sit 

between E and B. 

 

 
2) F sits third to the left of H. H is an 

immediate neighbour of neither E nor B. 

H does not sit at any of the extreme ends 

of the line. 

 

 
3) Both the immediate neighbours of D 

face south. D is not an immediate 

neighbour of H. D does not sit at the 

extreme end. 

 

 
4) The immediate neighbours of B face 

opposite directions. Only one person sits 

between D and A. A faces the same 

direction as H. Therefore CASE I is not 

true. 

 
5) Persons sitting at extreme ends face 

opposite directions. C faces a direction 

opposite that of D. 

 
4. Ans. D.  

1) The one who likes Hexagon sits 2nd 

right of H but both do not sit at any 

extreme end. The one who faces the one, 

who likes Hexagon, sits immediate left of 

the vacant seat of row 1. 
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2) The one who faces the vacant seat of 

row 2 is E who likes Square. C sits 3rd 

right of E. There is only one person sits 

between vacant seat of row 2 and A. 

 
3) The one who likes Triangle is 

immediate neighbour of the one who 

faces C. The one who likes Pentagon faces 

the one who likes Triangle. 

 
4) B does not like Triangle. D does not 

like Pentagon. 

 
5) The one who likes Rectangle faces 

vacant seat of row 1. The one, who likes 

Diamond, sits second to the right of the 

one who likes Circle. Therefore, D likes 

Circle and C likes Diamond. 

 
5. Ans. B.  

1) The one who likes Hexagon sits 2nd 

right of H but both do not sit at any 

extreme end. The one who faces the one, 

who likes Hexagon, sits immediate left of 

the vacant seat of row 1. 

 
2) The one who faces the vacant seat of 

row 2 is E who likes Square. C sits 3rd 

right of E. There is only one person sits 

between vacant seat of row 2 and A. 

 
3) The one who likes Triangle is 

immediate neighbour of the one who 

faces C. The one who likes Pentagon faces 

the one who likes Triangle. 

 
4) B does not like Triangle. D does not 

like Pentagon. 
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5) The one who likes Rectangle faces 

vacant seat of row 1. The one, who likes 

Diamond, sits second to the right of the 

one who likes Circle. Therefore, D likes 

Circle and C likes Diamond. 

 
6. Ans. E.  

 
Conclusions: 

I. Some Friends are not Relatives – It is 

true as only a few Friends are Relatives 

that means some Friends are not 

Relatives. 

II. No Relatives are Parents – It is true as 

all Relatives are Family and no Family is 

Parent. 

Hence, both conclusions I and II follow. 

7. Ans. C.  

 
Conclusions: 

I. Some Years are Dates 

II. No Years are Dates 

Hence, either conclusion I or II follows. 

8. Ans. A.  

 
Conclusions: 

I. Some Platinum are Silver – It is true as 

only a few Silver are Golden and all 

Golden are Platinum. 

II. Some Iron are not Silver – It is not 

sure hence it is false. 

Hence, only conclusion I follows. 

9. Ans. D.  

 
Conclusions: 

I. No Classes are Teachers – It is false as 

there is no relation between Classes and 

Teachers hence it is false. 

II. Some Students are not Faculties – It 

is false as there is no relation between 

Students and Faculties hence it is false. 

Hence, neither I nor II conclusion follows. 

10. Ans. C.  

 
Conclusions: 

I. Some Laptops are Abacus – There is no 

relation between Laptops and Abacus 

hence it is false. 

II. No Abacus are Laptops – There is no 

relation between Laptops and Abacus 

hence it is false. 

Hence, either conclusion I or II follows. 

11. Ans. B.  

1) B always scores more marks than C. 

B > C 

2) A always scores less marks than C. 

C > A 

3) D always scores more marks than Q. 

D > Q 

4) P always score more marks than D. 

P > D 

5) B always scores less marks than Q. 

Q > B 

6) After combining (1), (2) and (5): 

Q > B > C > A 

7) After combining (3) and (4): 

P > D > Q 

After combining (6) and (7) statements: 
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P > D > Q > B > C > A 

If J is rank 8 and E is rank 5. 

1 > 2 > 3 > 4 > E > 5 > 6 > 7 > J > 9 > 

10 

Each time either G scores the highest and 

E scores the lowest or alternatively K 

scores the highest and A or J scores the 

lowest. 

As E rank is 5 as per question, so it can 

be concluded that G does not score the 

highest. 

As J rank is 8 as per question, so it can 

be concluded that A scores the lowest and 

K scores the highest. 

K > 2 > 3 > 4 > E > 6 > 7 > J > 9 > A 

If G always scores more than P, we will 

get 

G > P > D > Q > B > C > A 

Now, after filling the above information 

Final Solution 

K > G > P > D > E > Q > B > J > C > A 

Clearly, if J is rank 8 and E is rank 5 and 

G always scores more than P then D rank 

is 4 is the only true condition among the 

given conditions. 

12. Ans. C.  

1) B always scores more marks than C. 

B > C 

2) A always scores less marks than C. 

C > A 

3) D always scores more marks than Q. 

D > Q 

4) P always score more marks than D. 

P > D 

5) B always scores less marks than Q. 

Q > B 

6) After combining (1), (2) and (5): 

Q > B > C > A 

7) After combining (3) and (4): 

P > D > Q 

After combining (6) and (7) statements: 

P > D > Q > B > C > A 

If K is rank 4 

1 > 2 > 3 > K > 5 > 6 > 7 > 8 > 9 > 10 

Each time either G scores the highest and 

E scores the lowest or alternatively K 

scores the highest and A or J scores the 

lowest. 

As K rank is 4 as per question, it can be 

concluded that neither A nor J scores the 

lowest. 

Also, it can be concluded that G scores 

the highest and E scores the lowest. 

G > 2 > 3 > K > 5 > 6 > 7 > 8 > 9 > E 

If J always scores more than A but less 

than C. 

C > J > A 

Now, we will get: 

P > D > Q > B > C > J > A 

After filling the above information, we will 

get 

G > P > D > K > Q > B > C > J > A > E 

Clearly, K always scores more than Q but 

less than P is the only true condition 

among the given conditions if K is rank 4 

and J always scores more than A but less 

than C. 

13. Ans. A.  

1) B always scores more marks than C. 

B > C 

2) A always scores less marks than C. 

C > A 

3) D always scores more marks than Q. 

D > Q 

4) P always score more marks than D. 

P > D 

5) B always scores less marks than Q. 

Q > B 

6) After combining (1), (2) and (5): 

Q > B > C > A 

7) After combining (3) and (4): 

P > D > Q 

After combining (6) and (7) statements: 

P > D > Q > B > C > A 

If G rank is 3 and A rank is 9 

1 > 2 > G > 4 > 5 > 6 > 7 > 8 > A > 10 

Each time either G scores the highest and 

E scores the lowest or alternatively K 

scores the highest and A or J scores the 

lowest. 

As G rank is 3 as per question, it can be 

concluded that E does not score the 

lowest. 

Also, it can be concluded that K scores the 

highest and J scores the lowest. 

K > 2 > G > 4 > 5 > 6 > 7 > 8 > A > J 

If E scores the third lowest marks 

1 > 2 > 3 > 4 > 5 > 6 > 7 > E > 9 > 10 

Now, we will get 

K > 2 > G > 4 > 5 > 6 > 7 > E > A > J 

After filling the above information, we will 

get 

K > P > G > D > Q > B > C > E > A > J 

Clearly, Q scores the fifth highest marks. 

14. Ans. E.  

1) B always scores more marks than C. 
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B > C 

2) A always scores less marks than C. 

C > A 

3) D always scores more marks than Q. 

D > Q 

4) P always score more marks than D. 

P > D 

5) B always scores less marks than Q. 

Q > B 

6) After combining (1), (2) and (5): 

Q > B > C > A 

7) After combining (3) and (4): 

P > D > Q 

After combining (6) and (7) statements: 

P > D > Q > B > C > A 

If A scores the lowest marks and J scores 

the fourth lowest marks. 

1 > 2 > 3 > 4 > 5 > 6 > J > 8 > 9 > A 

Each time either G scores the highest and 

E scores the lowest or alternatively K 

scores the highest and A or J scores the 

lowest. 

A scores the lowest marks as per 

question, so it can be concluded that K 

scores the highest marks. 

Now, we will get 

K > 2 > 3 > 4 > 5 > 6 > J > 8 > 9 > A 

Position of remaining persons cannot be 

fixed as position of G and E is ascertained. 

Clearly, it cannot be determined as 

position of remaining persons cannot be 

fixed as position of G and E is ascertained. 

15. Ans. C.  

1) B always scores more marks than C. 

B > C 

2) A always scores less marks than C. 

C > A 

3) D always scores more marks than Q. 

D > Q 

4) P always score more marks than D. 

P > D 

5) B always scores less marks than Q. 

Q > B 

(6) After combining (1), (2) and (5): 

Q > B > C > A 

(7) After combining (3) and (4): 

P > D > Q 

After combining (6) and (7) statements: 

P > D > Q > B > C > A 

If G always scores more than P but less 

than E. 

E > G > P 

Now, we will get 

E > G > P > D > Q > B > C > A 

If neither A nor E scores the lowest 

marks. 

Each time either G scores the highest and 

E scores the lowest or alternatively K 

scores the highest and A or J scores the 

lowest. 

It can be concluded from the above 

statements that J scores the lowest 

marks and K scores the highest marks. 

K > 2 > 3 > 4 > 5 > 6 > 7 > 8 > 9 > J 

After filling the above information, we will 

get 

K > E > G > P > D > Q > B > C > A > J 

Clearly, A rank is 9. 

16. Ans. E.  

1) Om has team named Sydney Sixers, 

the captain of this team is Adam. Naresh 

and Qureshi selected the captain from Sri 

Lanka. Naresh has Adelaide Strikers. The 

one who has team Hobart Hurricanes has 

captain from Australia only with Om, 

therefore Om has a captain from 

Australia. 

 
2) Piyush has Perth Lions and Captain of 

Perth Lions is Saurav. Shane is captain of 

that team which is managed by Qureshi. 

 
3) Ram manages Melbourne Stars. Ricky 

is not from Africa or Srilanka neither his 

manager is manish, therefore ricky 

belongs to Australia and his manager is 

Lokesh and he is the captain of Hobart 

Hurricanes. 
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4) Piyush belongs to Africa. The one who 

manages Sydney Thunders has no 

captain from Africa, therefore Qureshi 

manages Sydney Thunders. Therefore, 

Manish manages Brisbane Heat. 

 
5) Chris is not the captain of Brisbane 

Heat or Adelaide Strikers, therefore Chris 

is the captain of Melbourne Stars. Farhan 

is not the captain of Adelaide Strikers, 

Smith is captain of Adelaide Strikers and 

Farhan is of Brisbane Heat. 

 
17. Ans. C.  

1) Om has team named Sydney Sixers, 

the captain of this team is Adam. Naresh 

and Qureshi selected the captain from Sri 

Lanka. Naresh has Adelaide Strikers. The 

one who has team Hobart Hurricanes has 

captain from Australia only with Om, 

therefore Om has a captain from 

Australia. 

 
2) Piyush has Perth Lions and Captain of 

Perth Lions is Saurav. Shane is captain of 

that team which is managed by Qureshi. 

 
3) Ram manages Melbourne Stars. Ricky 

is not from Africa or Srilanka neither his 

manager is manish, therefore ricky 

belongs to Australia and his manager is 

Lokesh and he is the captain of Hobart 

Hurricanes. 

 
4) Piyush belongs to Africa. The one who 

manages Sydney Thunders has no 

captain from Africa, therefore Qureshi 

manages Sydney Thunders. Therefore, 

Manish manages Brisbane Heat. 

 
5) Chris is not the captain of Brisbane 

Heat or Adelaide Strikers, therefore Chris 

is the captain of Melbourne Stars. Farhan 

is not the captain of Adelaide Strikers, 

Smith is captain of Adelaide Strikers and 

Farhan is of Brisbane Heat. 

 
18. Ans. B.  

1) Om has team named Sydney Sixers, 

the captain of this team is Adam. Naresh 

and Qureshi selected the captain from Sri 

Lanka. Naresh has Adelaide Strikers. The 

one who has team Hobart Hurricanes has 

captain from Australia only with Om, 
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therefore Om has a captain from 

Australia. 

 
2) Piyush has Perth Lions and Captain of 

Perth Lions is Saurav. Shane is captain of 

that team which is managed by Qureshi. 

 
3) Ram manages Melbourne Stars. Ricky 

is not from Africa or Srilanka neither his 

manager is manish, therefore ricky 

belongs to Australia and his manager is 

Lokesh and he is the captain of Hobart 

Hurricanes. 

 
4) Piyush belongs to Africa. The one who 

manages Sydney Thunders has no 

captain from Africa, therefore Qureshi 

manages Sydney Thunders. Therefore, 

Manish manages Brisbane Heat. 

 
5) Chris is not the captain of Brisbane 

Heat or Adelaide Strikers, therefore Chris 

is the captain of Melbourne Stars. Farhan 

is not the captain of Adelaide Strikers, 

Smith is captain of Adelaide Strikers and 

Farhan is of Brisbane Heat. 

 
19. Ans. A.  

1) Om has team named Sydney Sixers, 

the captain of this team is Adam. Naresh 

and Qureshi selected the captain from Sri 

Lanka. Naresh has Adelaide Strikers. The 

one who has team Hobart Hurricanes has 

captain from Australia only with Om, 

therefore Om has a captain from 

Australia. 

 
2) Piyush has Perth Lions and Captain of 

Perth Lions is Saurav. Shane is captain of 

that team which is managed by Qureshi. 

 
3) Ram manages Melbourne Stars. Ricky 

is not from Africa or Srilanka neither his 

manager is manish, therefore ricky 

belongs to Australia and his manager is 

Lokesh and he is the captain of Hobart 

Hurricanes. 

 
4) Piyush belongs to Africa. The one who 

manages Sydney Thunders has no 

captain from Africa, therefore Qureshi 

manages Sydney Thunders. Therefore, 

Manish manages Brisbane Heat. 
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5) Chris is not the captain of Brisbane 

Heat or Adelaide Strikers, therefore Chris 

is the captain of Melbourne Stars. Farhan 

is not the captain of Adelaide Strikers, 

Smith is captain of Adelaide Strikers and 

Farhan is of Brisbane Heat. 

 
20. Ans. C.  

1) Om has team named Sydney Sixers, 

the captain of this team is Adam. Naresh 

and Qureshi selected the captain from Sri 

Lanka. Naresh has Adelaide Strikers. The 

one who has team Hobart Hurricanes has 

captain from Australia only with Om, 

therefore Om has a captain from 

Australia. 

 
2) Piyush has Perth Lions and Captain of 

Perth Lions is Saurav. Shane is captain of 

that team which is managed by Qureshi. 

 
3) Ram manages Melbourne Stars. Ricky 

is not from Africa or Srilanka neither his 

manager is manish, therefore ricky 

belongs to Australia and his manager is 

Lokesh and he is the captain of Hobart 

Hurricanes. 

 
4) Piyush belongs to Africa. The one who 

manages Sydney Thunders has no 

captain from Africa, therefore Qureshi 

manages Sydney Thunders. Therefore, 

Manish manages Brisbane Heat. 

 
5) Chris is not the captain of Brisbane 

Heat or Adelaide Strikers, therefore Chris 

is the captain of Melbourne Stars. Farhan 

is not the captain of Adelaide Strikers, 

Smith is captain of Adelaide Strikers and 

Farhan is of Brisbane Heat. 

 
21. Ans. B.  

Total income of Ritik =  = 

Rs. 15000 

Total income of Sahil =  = 

Rs. 20000 

Required ratio = 15000 : 20000 = 3 : 4 

Hence, option B is correct. 

22. Ans. A.  

Saving of Piyush =  = Rs. 

2500 

Saving of Girish =  = Rs. 2400 

Required average =  = Rs. 

2450 

Hence, option A is correct. 

23. Ans. B.  
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The amount that Ankit spent on food = 

8000 × 0.20 = Rs. 1600 

The amount that Ankit spent on rent = 

6400 × 0.35 = Rs. 2240 

The amount that Ankit spent on children’s 

fees = 8000 – 1600 – 2240 = Rs. 4160 

Saving of Ankit =  = Rs. 

4800 

Required difference = 4800 – 4160 = Rs. 

640 

Hence, option B is correct. 

24. Ans. D.  

Saving of Sahil =  = Rs.8000 

Simple interest = 8000 × 0.12 × 2.5 = 

Rs. 2400 

Hence, option D is correct. 

25. Ans. C.  

Total income of Piyush =  = 

Rs. 10000 

Total income of Ankush =  = 

Rs. 9000 

Expenditure of Piyush = Rs. 7500 

Expenditure of Ankush =  = Rs. 

6250 

Saving of Piyush = 10000 – 7500 = Rs. 

2500 

Saving of Ankush = 9000 – 6250 = Rs. 

2750 

Required ratio = 2500 : 2750 = 10 : 11 

Hence, option C is correct. 

26. Ans. A.  

 
27. Ans. D.  

Profit share of A and E = 135000 × 0.15 

× 11 : 135000 × 0.22 × 10 

= 3 : 4 

28. Ans. B.  

Amount invested by D = 135000 × 0.25 

= Rs. 33750 

Amount invested by F = 33750 + 2250 = 

Rs. 36000 

Profit share ratio of D and F = 33750 × 

12 : 36000 × 9 = 5 : 4 

Let the total profit = Rs. x 

According to the data provided in the 

question, we get 

 = 6000 

 = 6000 

⇒ x = 54000 

Total profit share = Rs. 54000 

29. Ans. E.  

Required central angle =  = 

90° 

30. Ans. C.  

Amount invested by A = 135000 × 0.15 

= Rs. 20250 

Amount invested by B = 135000 × 0.20 

= Rs. 27000 

Amount invested by D = 135000 × 0.25 

= Rs. 33750 

Profit share ratio of A, B and D = 20250 

× 12 : 27000 × 12 : 33750 × x = 36 : 48 

: 5x 

According to the data provided in the 

question, we get 

 
⇒ 25 × (84 + 5x) = 5x × 67 

⇒ 2100 + 125x = 335x 

⇒ 210x = 2100 

⇒ x = 10 

31. Ans. B.  

Total number of Cadbury chocolates sold 

by shopkeeper = 120 + 150 + 110 + 80 

+ 160 = 620 

Required average =  = 124 

Hence, option B is correct. 

32. Ans. D.  

Total Amul chocolates sold by shopkeeper 

in January, February and March = 140 + 

130 + 180 = 450 

CP of 1 chocolate =  100 = Rs. 20 

Profit on 1 chocolate = 24 – 20 = Rs. 4 

Total profit earned by shopkeeper in 

January, February and March = 450 × 4 

= Rs. 1800 

Hence, option D is correct. 

33. Ans. A.  

Number of Cadbury chocolates sold by 

shopkeeper in March and May together = 

110 + 160 = 270 
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Number of Amul chocolates sold by 

shopkeeper in March and April together = 

180 + 100 = 280 

Required difference = 280 – 270 = 10 

Hence, option A is correct. 

34. Ans. B.  

Number of Cadbury chocolates sold by 

shopkeeper in June =  = 200 

Number of Amul chocolates sold by 

shopkeeper in June =  = 160 

Total number of chocolates sold in June = 

200 + 160 = 360 

Hence, option B is correct. 

35. Ans. C.  

The number of Amul chocolates sold in 

January and February together = 140 + 

130 = 270 

The number of Cadbury chocolates sold in 

April and May together = 80 + 160 = 240 

Required percentage =  = 

112.5% 

Hence, option C is correct. 

36. Ans. C.  

Let the number of female employees in 

company P = 5x 

Number of male employees in company P 

= 4x 

Number of female employees in company 

R = 4x + 600 

Number of male employees in company S 

= 10x + 400 

Number of female employees in company 

S = 2250 

Number of male employees in company S 

=  = 2000 

According to the data provided in the 

question, we get 

2000 = 10x + 400 

⇒ 10x = 1600 

⇒ x = 160 

Number of female employees in company 

P = 5 × 160 = 800 

Number of male employees in company P 

= 4 × 160 = 640 

Number of female employees in company 

R = 640 + 600 = 1240 

Number of male employees in company R 

= 800 × 2 = 1600 

Number of male employees in company Q 

= 5500 – 2000 – 640 – 1600 = 1260 

Number of female employees in company 

Q = 1260 

Required ratio = 800 : 1240 = 20 : 31 

Hence, option C is correct. 

37. Ans. E.  

Let the number of female employees in 

company P = 5x 

Number of male employees in company P 

= 4x 

Number of female employees in company 

R = 4x + 600 

Number of male employees in company S 

= 10x + 400 

Number of female employees in company 

S = 2250 

Number of male employees in company S 

=  = 2000 

According to the data provided in the 

question, we get 

2000 = 10x + 400 

⇒ 10x = 1600 

⇒ x = 160 

Number of female employees in company 

P = 5 × 160 = 800 

Number of male employees in company P 

= 4 × 160 = 640 

Number of female employees in company 

R = 640 + 600 = 1240 

Number of male employees in company R 

= 800 × 2 = 1600 

Number of male employees in company Q 

= 5500 – 2000 – 640 – 1600 = 1260 

Number of female employees in company 

Q = 1260 

Total number of female and male 

employees in company R = 1240 + 1600 

= 2840 

Hence, option E is correct. 

38. Ans. A.  

Let the number of female employees in 

company P = 5x 

Number of male employees in company P 

= 4x 

Number of female employees in company 

R = 4x + 600 

Number of male employees in company S 

= 10x + 400 

Number of female employees in company 

S = 2250 
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Number of male employees in company S 

=  = 2000 

According to the data provided in the 

question, we get 

2000 = 10x + 400 

⇒ 10x = 1600 

⇒ x = 160 

Number of female employees in company 

P = 5 × 160 = 800 

Number of male employees in company P 

= 4 × 160 = 640 

Number of female employees in company 

R = 640 + 600 = 1240 

Number of male employees in company R 

= 800 × 2 = 1600 

Number of male employees in company Q 

= 5500 – 2000 – 640 – 1600 = 1260 

Number of female employees in company 

Q = 1260 

Number of male employees who are not 

married in company Q = 1260 × 0.60 = 

756 

Number of female employees who are not 

married in company Q = 1260 × 0.45 = 

567 

Total number of male and female 

employees who are not married in 

company Q = 756 + 567 = 1323 

Hence, option A is correct. 

39. Ans. B.  

Let the number of female employees in 

company P = 5x 

Number of male employees in company P 

= 4x 

Number of female employees in company 

R = 4x + 600 

Number of male employees in company S 

= 10x + 400 

Number of female employees in company 

S = 2250 

Number of male employees in company S 

=  = 2000 

According to the data provided in the 

question, we get 

2000 = 10x + 400 

⇒ 10x = 1600 

⇒ x = 160 

Number of female employees in company 

P = 5 × 160 = 800 

Number of male employees in company P 

= 4 × 160 = 640 

Number of female employees in company 

R = 640 + 600 = 1240 

Number of male employees in company R 

= 800 × 2 = 1600 

Number of male employees in company Q 

= 5500 – 2000 – 640 – 1600 = 1260 

Number of female employees in company 

Q = 1260 

Required number of female employees = 

2250 + 1240 + 800 + 1260 = 5550 

Hence, option B is correct. 

40. Ans. E.  

Let the number of female employees in 

company P = 5x 

Number of male employees in company P 

= 4x 

Number of female employees in company 

R = 4x + 600 

Number of male employees in company S 

= 10x + 400 

Number of female employees in company 

S = 2250 

Number of male employees in company S 

=  = 2000 

According to the data provided in the 

question, we get 

2000 = 10x + 400 

⇒ 10x = 1600 

⇒ x = 160 

Number of female employees in company 

P = 5 × 160 = 800 

Number of male employees in company P 

= 4 × 160 = 640 

Number of female employees in company 

R = 640 + 600 = 1240 

Number of male employees in company R 

= 800 × 2 = 1600 

Number of male employees in company Q 

= 5500 – 2000 – 640 – 1600 = 1260 

Number of female employees in company 

Q = 1260 

Total male and female employees in 

company P = 800 + 640 = 1440 

Male employees in company S = 2000 

Required percentage =  = 

72% 

Hence, option E is correct. 

41. Ans. C.  

'Such Societies' has been mentioned in 

bold in the first paragraph of the passage, 

in the context of the third world countries. 
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The developing countries are usually 

called by the name of 'developing 

countries', thus the correct response is 

option C. 

42. Ans. C.  

The last paragraph makes it clear that 

China has managed a better track record 

in terms of development when compared 

with the other developing countries. The 

same paragraph has also the mention of 

the Indian policy decisions failing due to 

political reasons. Thus, we can infer that 

China has done better than India in terms 

of development. Rest of the statements 

either find no mention or are in contrast 

to the ideas mentioned in the passage. 

So, the correct response is option C. 

43. Ans. E.  

Statement I is not true because in the 

first paragraph the theoretical aspects, as 

well as the additional aspects, like the 

environmental issues, have been 

mentioned. 

Statement II is correct inference as the 

last paragraph mentions that the political 

constraints has led to the government 

schemes and programs not yielding 

proper results. 

Statement III is not correct as it is 

mentioned in the second paragraph that 

the asymmetry in the interdependence is 

the reason for the increasing divide. 

44. Ans. B.  

The first paragraph mentions that the 

author feels that development is 

connected with getting more equity and 

increasing access to the public and social 

services.  

This has been mentioned in the second 

option, thus option B is the correct 

response. 

45. Ans. B.  

Statement I is incorrect as the passage 

mentions: 

"The one outcome of these efforts is the 

recognition that development is multi-

disciplinary exercise, not just an 

economic proposition." So we can rule 

this out. 

 

As per this line in the passage "The crucial 

point for successful development strategy 

is the political commitment of the 

authorities and building up a social 

security structure for the poor." and after 

this, the passage quites India's example, 

so the statement II is true. 

 

Statement III quotes exactly the opposite 

of what is mentioned in the last 

paragraph of the passage. So it is 

false.This has been mentioned in the 

second option and thus option B is the 

most suitable response. 

46. Ans. C.  

The last paragraph categorically talks 

about the success China has achieved in 

terms of providing education and health 

and nourishment to its people. So, 

Statement II is true.  

As per this line of the passage "The Indian 

experience with the various government 

sponsored guarantee schemes, and their 

failure in some of the areas, show that 

building a social security network is 

mainly a political exercise. In contrast, we 

have seen in China how organizational 

instrumental brought about a very large 

number of rural infrastructural 

investment projects which laid the 

foundation of a successful agricultural 

development. " It can be concluded that 

India lags behind China in agriculture and 

rural development too. 

Thus, option C is the correct response. 

47. Ans. B.  

Laity means ordinary people, as distinct 

from professionals or experts, which is 

similar to meaning as 'layman'. So, option 

B is the correct response. 

Novice means a person new to and 

inexperienced in a job or situation. 

Ignorant means lacking knowledge or 

awareness in general; uneducated or 

unsophisticated. 

48. Ans. A.  

Predators mean a person who ruthlessly 

exploits others; this is synonymous to 

'exploiter' and thus the correct response 

is option A 

49. Ans. D.  

Plurality means a large number of things. 

Orthodox means of the ordinary or usual 

type; normal. 

http://www.gradeup.com/


www.gradeup.co 
 
 

 
46 

 

Fanaticism means the condition when 

one's liking or admiration towards a 

person, idea or thing is extreme. 

Conservatism means commitment to 

traditional values and ideas with 

opposition to change or innovation. 

Unilateral means (of an action or 

decision) performed by or affecting only 

one person, group, or country involved in 

a situation, without the agreement of 

another or the others; this is the opposite 

to the meaning expressed by 'plurality'. 

50. Ans. B.  

Devastating means highly destructive or 

damaging. 

Ruinous means disastrous or destructive. 

Conducive means making a certain 

situation or outcome likely or possible. 

This word has the reference of facilitating 

something getting created or started and 

thus it is the opposite of the question 

word. 

Futile means incapable of producing any 

useful result; pointless. 

51. Ans. D.  

Parts B and D are incorrect. In part B, 

‘neither’ is a part of the correlative 

conjunction ‘neither-nor’. So instead of 

‘or’, the word ‘nor’ should be used. In part 

D, instead of ‘which’ which is an 

interrogative pronoun, the pronoun ‘who’ 

should be used. Thus, option D is the 

correct answer. 

52. Ans. D.  

Parts A and C carry the error. 

The phrase ‘walk in on’ in part A means 

to enter a room when someone is doing 

something private or personal. The 

correct phrasal verb here would be ‘walk 

away’ which means to leave an 

unpleasant situation that is difficult to 

deal with. Since the person was going to 

‘walk away’, her activity of watching the 

party goers is a future occurrence. 

‘Watched’ is a past tense and should be 

replaced by ‘watching’ in part C of the 

sentence. Thus, option D is the correct 

answer. 

53. Ans. B.  

Parts B and D are incorrect. 

In part B, the usage of the preposition ‘to’ 

implies that the sentence is identifying 

the person or thing affected by or 

receiving something. But here ‘him’ is the 

object of a look, thought, action, or plan. 

Thus, the preposition ‘at’ is more 

appropriate. 

In part D, there is an error in the noun 

number. Since the sentence mentions 

that the person hid behind ‘one’ of the 

columns, it is evident that a number of 

columns were present and so, the plural 

form, .i.e, ‘columns’ should be used. 

54. Ans. A.  

The errors are in part A and B of the 

sentence and the errors are vocabulary 

based. “Wall morals” is a bizzare term 

and does not make any sense. The word 

should be “murals” which refers to a 

painting or other work of art executed 

directly on a wall. ‘Resent’ means to feel 

bitter toward or aggrieved at. It doesn’t 

make any sense in part B. The correct 

word in its place should be 'recent' which 

means current or latest. 

55. Ans. E.  

The sentence is correct and contains no 

error. Hence, the correct answer is E. 

56. Ans. C.  

The first alternative would put the second 

sentence in the beginning. So the new 

sentence, thus formed would be, "To 

pave way for the Sagar Mala Project, 

the revised project document 

mentions Port Led Development for 

aiding port-led industrialisation in its 

project documents." 

Alternative II can join the sentences in 

the following manner: "With the 

mention of Port Led Development for 

aiding port-led industrialisation in its 

project documents, the revised 

project document aims to pave way 

for the Sagar Mala Project." 

Thus, option C is the correct answer. 

57. Ans. E.  

We can clearly decipher from the second 

sentence that Christian leaders or the 

church leaders were exceptionally blamed 

for duping people/public and subverting 

their society by forceful conversions. 

They are charged with forceful 

conversions. And in defense of it or in 

reply they must have highlighted the 

contribution of the church. “The crux of 

the controversy was left unaddressed” 
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can be seen in the light that they 

addressed their defense in front of many 

people. 

Therefore, all three options can be used. 

New statements: 

The local church leaders rose to denounce 

the charges against them as they 

highlighted the contribution of the church 

in the state through its chain of 3,500 

educational and medical institutions, 

however, the charge of forceful 

conversions, the crux of the controversy, 

was left unaddressed. 

Defensive in their rebuttal, the church 

leaders highlighted the contribution of the 

church in the state through its chain of 

3,500 educational and medical 

institutions, however, the charge of 

forceful conversions, the crux of the 

controversy, was left unaddressed. 

In the face of heated public debate, the 

church leaders highlighted the 

contribution of the church in the state 

through its chain of 3,500 educational 

and medical institutions, however, the 

charge of forceful conversions, the crux of 

the controversy, was left unaddressed. 

58. Ans. C.  

The 'it' in the phrase '…. that it has much 

more to do….' from the second sentence 

refers to the 'violence' mentioned in the 

first sentence. So, if we replace this 'it' by 

'violence that broke out in West Bengal's 

Malda district earlier this month' and 

mention that 'religion' is not the reason 

but 'thriving poppy cultivation', the 

sentences will be combined. 

New sentence: With every day it is 

becoming clearer that the violence that 

broke out in West Bengal's Malda district 

earlier this month may have little to do 

with religion and much more to do with 

the thriving poppy cultivation in the area 

that is allegedly taking place with state 

authorities turning a blind eye. 

Hence, the correct answer is C. 

59. Ans. A.  

The first part of the sentence states a 

problem. The second part of the sentence 

states a condition that is solving the 

problem to a certain extent. So, the 

second part is presenting an opposing 

picture. The conjunction ‘but’ is best 

suited to join the two sentences as both 

parts are equally important but in 

opposition to each other. Thus, option A 

is the correct answer. 

 

New Sentence: Measuring corruption 

and the costs of corruption has been a 

challenge for the international 

community, but the challenge is being 

reduced with increasing availability of 

survey and polls by many institutions, 

containing data on different dimensions 

of governance. 

60. Ans. A.  

Option A is the correct answer. 

The first part mentions the actions of the 

Russians which set off a superpower race. 

So, cause and effect have been 

mentioned in the sentence. The second 

part mentions another effect that occurs 

because of the effect mentioned in the 

first sentence. 

So, it is an additional effect. 

Point c becomes invalid as in the case of 

contrasting sentences, the conjunction 

'however' is used, which is followed by a 

comma. 

On the other hand, both ‘thus’ which is 

coordinating conjunction and ‘therefore’ 

which is an adverb used to denote 

consequent actions can be used to 

connect the two sentences. Thus, option 

A is the correct answer 

New Sentence: 

• The Soviet launch of the first artificial 

satellite, Sputnik, in 1957 set off a 

superpower space race, thus, 

instigating the American leaders to look 

at the same and specifically at ways in 

which the teaching and achievement 

levels in math and science could be 

dramatically improved. 

• The Soviet launch of the first artificial 

satellite, Sputnik, in 1957 set off a 

superpower space race, hence, 

prompting the American leaders to look 

at the American education system, and 

specifically at ways in which the teaching 

and achievement levels in math and 

science could be dramatically improved. 

61. Ans. D.  

The first two sentences are incorrect. The 

passage is about how gradually moved 
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from traditional business mindset to 

entrepreneurial-based business over the 

years. And how IT companies have 

flourished in India gradually. If it would 

not have been conducive, there would 

have not been any startups in India. 

Similarly, the Indian government is 

taking initiatives such as Start Up India to 

support the nascent startups. Thus, we 

can see that the first two statements 

cannot be inferred. 

On the other hand, the passage states 

that “Startups cannot operate in a 

vacuum, they need a supporting eco-

system to nurture them. Entrepreneurs 

have been setting up businesses in India 

since kingdom come. How did this 

community sustain entrepreneurship 

over the ages? By developing a 

sustainable eco-system that matched the 

needs of the traditional businesses.” 

This makes statement III true. Thus, 

option D is the correct answer. 

62. Ans. B.  

• The government has notified 

amalgamation of regional rural public 

sector banks — Baroda Uttar Pradesh 

Grameen Bank, Kashi Gomti Samyut 

Gramin Bank and Purvanchal Bank — into 

a single regional rural bank, Baroda UP 

Bank. 

• Its headquarters will be in Gorakhpur 

under sponsorship of Bank of Baroda, as 

per the notification. 

• Bank of Baroda is sponsor of Baroda 

Uttar Pradesh Grameen Bank, Union Bank 

of India is sponsor of Kashi Gomti Samyut 

Gramin Bank while State Bank of India is 

sponsor of Purvanchal Bank. 

63. Ans. B.  

* On October 31st, 2019, the 35th 

ASEAN Summit began in Bangkok, 

Thailand.  

 

* Thailand Prime Minister Prayut Chan -

o-Cha inaugurated this summit at 

IMPACT convention complex. 

 

* The theme of the summit is 

'Advancing Partnership for 

sustainability'. 

 

* Prime Minister Narendra Modi attended 

this summit on November 3rd and 4th. 

 

* Apart from leaders of 10 ASEAN 

countries head of Eight dialogue partner 

countries including India, USA China, 

Japan, Republic of Korea, Australia 

and New Zealand also participated in 

the summit. 

64. Ans. E.  

The 25th United Nations(UN) Climate 

Change Conference held in Madrid, Spain 

from December 2-13, 2019. The 

conference featured 25th session of the 

Conference of the Parties (COP 25) to the 

United Nations Framework Convention to 

Combat Climate Change (UNFCCC). 

The Ministers BASIC countries i.e., Brazil, 

South Africa, India and China group 

(BASIC) met during COP25 in Madrid, 

Spain, on 10th December 2019. The 

Ministers pledged their full support to the 

Chilean COP (Conference of the Parties) 

Presidency.  

Mr. Prakash Javadekar, Minister for 

Environment, Forest and Climate Change 

and Information and Broadcasting of the 

Republic of India attended the meeting 

from Indian side. 

65. Ans. A.  

• Bank of Baroda has made an 

announcement about developing an agri-

digital platform called ‘Baroda Kisan’ to 

provide solutions for all kind of major 

agricultural requirements. 

• Baroda Kisan is aimed at digitization of 

digital services for agricultural 

requirements. 

• The platform will be handled by IT 

Centre of Excellence (ITCoE) of Bank of 

Baroda in partnership with IBM India. 

66. Ans. C.  

• German multinational brand PUMA has 

announced Sunil Chhetri as its new brand 

ambassador for three -years. 

• With this deal, Chhetri has joined the 

brand’s the roster of global players like 

Antoine Griezmann, Romelu Lukaku, Luis 

Suarez and Sergio Aguero among others. 

• Sunil Chhetri is the captain of the Indian 

national the football team and Bengaluru 

Football Club. 
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• Currently, Chhetri is the second-highest 

goal-scorer in international football after 

Portugal’s Cristiano Ronaldo. 

• Sunil Chhetri was also conferred with 

the Arjuna award in 2011 and Padma Shri 

in 2019. 

67. Ans. B.  

Nagarhole National Park, is located in the 

Kodagu and Mysore districts in 

Karnataka. This park was declared the 

thirty seventh Project Tiger reserve in 

1999. It is part of the Nilgiri Biosphere 

Reserve. 

68. Ans. E.  

* Veteran opener Wasim Jaffer (41 years) 

has become the first player in Indian 

cricket to feature in 150 Ranji matches. 

* Overall, Jaffer has played 253 first-class 

games, scoring 19,147 runs at an 

average of 51.19. 

* He has scored 57 hundred and 88 fifties 

with 314 being his highest score. 

* Jaffer is followed by batsman Devendra 

Bundela (145 matches) and Amol 

Muzumdar (136 matches). 

* Now, Wasim Jaffar is just 853 runs 

away from completing 20,000 runs in 

first-class cricket. 

69. Ans. B.  

• 13th South Asian Games open was held 

in Kathmandu, Nepal. 

• Over 2700 athletes from seven South 

Asian Countries participated in the march 

past. 

• For 10 days biggest sporting event of 

South Asia, 2715 athletes (India - 487 

athletes) compete for 1119 medals 

including 319 Gold in 26 game categories. 

70. Ans. B.  

● Union Minister Prakash Javadekar has 

announced the approval of the new 

‘Gorewada International Zoo’in Nagpur 

district of Maharashtra. 

● The Zoo will have attractions like Bio 

Park, Indian Safari, African Safari, Night 

Safari, Research, Education and Training, 

facilities for tourists, etc. 

● The task of construction of Indian Safari 

and ancillary activities, Water Reservoir 

and Gorewada Reserve has been given to 

FDCM Ltd. with Government Grants. 

● The Government of Maharashtra has 

accorded permission for establishing the 

International Zoo, through Forest 

Development Corporation of Maharashtra 

Limited (FDCM. Ltd.), Nagpur. 

71. Ans. C.  

• The 6th World Congress on Rural and 

Agricultural Finance (WCRAF) was held in 

New Delhi from November 12-13, 2019. 

• The congress was inaugurated by the 

Finance Minister Nirmala Sitharaman. 

• It was jointly hosted by Asia-Pacific 

Rural and Agricultural Credit Association 

(APRACA), National Bank for Agriculture 

and Rural Development (NABARD) and 

Ministry of Agriculture, Government of 

India. 

• This 6th version of the congress was 

attended by 300 delegates across the 

globe who engaged in interactive 

discussions to unleash the potential role 

of rural and agricultural finance. 

• The theme of the event was “Rural and 

Agricultural Finance: Critical Input to 

achieve Inclusive and Sustainable 

Development”. 

72. Ans. D.  

● The Swedish King and Queen Silvia 

arrived in New Delhi on a five-day visit to 

India. 

● Prime Minister Narendra Modi holds the 

talk with King Carl XVI Gustaf of Sweden 

at Hyderabad House in New Delhi. 

● The Swedish King is leading a high-level 

business delegation for engagements 

with Indian counterparts. 

● Several agreements on furthering 

bilateral engagement are likely to be 

signed between the two countries 

● India and Sweden have a bilateral trade 

turnover of 3.37 billion dollars and 

cumulative investments of about 2.5 

billion dollars. 

73. Ans. C.  

* The bilateral military exercise between 

India and Russia ‘INDRA 2019’ started at 

Babina (near Jhansi), Pune and Goa. 

* This military exercise is being held 

under the aegis of the United Nations 

(UN) aimed at combating terrorism and 

insurgency. 

* The objective of this exercise is to 

enhance the coordination of the two 

armies in maintaining peace and security 

under the aegis of the United Nations. 
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74. Ans. E.  

● The Reserve Bank of India has 

increased the limits imposed on peer-to-

peer lenders to ₹50 lakh, in a major relief 

to the fledgeling sector. 

● The limit is the total amount of money 

any investor can invest across all P2P 

platforms. 

● Earlier, the aggregate limits for both 

borrowers and lenders across all P2P 

platforms stand at Rs. 10 lakh. 

75. Ans. D.  

● Fund transfers through the NEFT 

system do not occur in real-time basis. 

NEFT settles fund transfers in half-hourly 

batches with 23 settlements occurring 

between 8:00 AM and 7:30 PM on 

weekdays and the 1st, 3rd and 5th 

Saturday of the calendar month. 

76. Ans. D.  

● The organization was renamed 

following the purchase of 75% stake in 

Reliance Nippon Life Asset Management 

by Nippon Life Insurance. 

● In Reliance Mutual Fund, both Reliance 

Capital and Nippon Life (Japan’s largest 

life insurance company) held 42.88% 

stake each, while the rest was with the 

public shareholder. 

77. Ans. B.  

• The Reserve Bank of India has rejected 

the proposed merger between Lakshmi 

Vilas Bank and Indiabulls Housing 

Finance. 

• The rejection comes after RBI put LVB 

under the Prompt Corrective Action (PCA) 

framework due to a high level of bad 

loans, lack of sufficient capital to manage 

risks and negative returns on assets for 

two consecutive years. 

• The move had come after Delhi Police's 

Economic Offences Wing registered a 

complaint against the board of LVB, 

alleging cheating and misappropriation of 

funds 

78. Ans. B.  

● Argentine footballer Lionel Messi (32-

years) won the FIFA's best male player of 

the year award 2019 at La Scala in Milan, 

Italy. 

● Earlier, Lionel Messi has won this award 

for the record sixth time (earlier,2009, 

2010, 2011, 2012 & 2015). 

● American footballer Megan Rapinoe has 

won the Best FIFA Football Women's 

Player award 2019. 

● Rapinoe beat Alex Morgan and Lucy 

Bronze to win The Best Women's Player 

award. 

● Jurgen Klopp (Germany) has won the 

best FIFA men's coach award. 

● Daniel Zsori (Hungarian-Romanian) 

received FIFA’s Puskas award. 

79. Ans. B.  

● Pravind Kumar Jugnauth is a Mauritian 

politician who is the current Prime 

Minister of Mauritius. 

● He has occupied various positions in 

both government and opposition since 

2000. He was Minister of Agriculture from 

2000 to 2003, Deputy Prime Minister & 

Minister of Finance from 2003 to 2005 

80. Ans. D.  

● the Northern Ontario Tourism Summit 

was developed as a partnership event 

between Nature and Outdoor Tourism 

Ontario (NOTO) and Destination Northern 

Ontario (DNO) to bring together tourism 

businesses, organizations and suppliers 

as well as all levels of government at a 

single event to find solutions to 

challenges facing the industry. 

● The Northern Ontario Tourism Summit 

releases its agenda between August and 

September each year. 

81. Ans. C.  

● Jana Small Finance Bank is a small 

finance bank that commenced operations 

on March 28, 2018. The Reserve Bank of 

India issued a licence to the bank under 

Section 22 of the Banking Regulation Act, 

1949. 

● Its headquarter is located in Bengaluru, 

Karnataka 
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